
MATHS

BOOKS - DEEPTI MATHS (TELUGU ENGLISH)

STRAIGHT LINES

Solved Examples

1. A straight line meets the coordinates axes at A and B, so that the

centroid of the triangle OAB is (1, 2). Then the equation of the line AB is

A. 

B. 

C. 

D. 

Answer: B

x + y = 6

2x + y = 6

x + 2y = 6

3xI + y = 6

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_mghiKLVd8rbH


Watch Video Solution

2. The equation of the line passing through (2, 2) and having intercepts

whose sum is -1 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x − y + 1 = 0

x − y + 7 = 0

x − 2y + 2 = 0 or 2x − y − 2 = 0

2x + 3y = 1 or 5x − 3y = 12

3. The slope of a straight line passing through A(-2, 3) is . The

points on the line that are 10 unit away from A are

A. (-8, 11), (4, -5)

−4/3

https://dl.doubtnut.com/l/_mghiKLVd8rbH
https://dl.doubtnut.com/l/_fjf8Wee5LkXc
https://dl.doubtnut.com/l/_kkIUa5o65lq1


B. (-7, 9), (17, -1)

C. (7, 5), (-1, -1)

D. (6, 10), (3, 5)

Answer: A

Watch Video Solution

4. If the lines  are

concurrent, then 

A. -1

B. -2

C. -7

D. 4

Answer: D

Watch Video Solution

14x + 7y = 44, 9x + 7y = 23, 8x + 14y = λ

λ =

https://dl.doubtnut.com/l/_kkIUa5o65lq1
https://dl.doubtnut.com/l/_VV3MLj1DB445


5. The equation of the line passing through the point of intersection of

 and perpendicular to  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + 3y − 1 = 0, x − 2y + 4 = − 0 3x + 4y = 0

3x + 4y − 2 = 0

4x − 3y + 11 = 0

4x − 3y − 11 = 0

3x + 4y + 2 = 0

6. The foot of the perpendicular from (3, 4) to the line  is

A. (4, 4)

B. (2, -3)

C. (-4, 4)

3x − 4y = 18

https://dl.doubtnut.com/l/_VV3MLj1DB445
https://dl.doubtnut.com/l/_ytfgFf7eaAwE
https://dl.doubtnut.com/l/_ufvXGFxw3Vrv


D. (6, 0)

Answer: D

Watch Video Solution

7. The equation of the line which is at 10 units from the origin and the

normal from the origin to it makes as angle  with the X-axis in the

negative direction is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

π

4

x + y + 10√2 = 0

x − y − 10√2 = 0

x + y − 10√2 = 0

x − y + 10√2 = 0

https://dl.doubtnut.com/l/_ufvXGFxw3Vrv
https://dl.doubtnut.com/l/_pKWZcviMHtEc
https://dl.doubtnut.com/l/_Nbb8z2X5IMCG


8. The equations of the two sides of a square whose area is 25 sq. Units

are  and . The equations of the other two sides

of the square are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3x − 4y = 0 4x + 3y = 0

3x − 4y ± 25 = 0, 4x + 3y ± 25 = 0

3x − 4y ± 5 = 0, 4x + 3y ± 5 = 0

3x − 4y ± 15 = 0, 4x + 3y ± 15 = 0

3x − 4y ± 10 = 0, 4x + 3y ± 10 = 0

9. Find the number of integer values of m for which the x-coordinate of

the point of intersection of the lines  and  is

also an integer.

A. 2

B. 0

3x + 4y = 9 y = mx + 1

https://dl.doubtnut.com/l/_Nbb8z2X5IMCG
https://dl.doubtnut.com/l/_c92EMvH94OoB


C. 4

D. 1

Answer: A

Watch Video Solution

10. The vertical straight line passing through the point of intersection of

the straight lines  and at a distance of

2 units from the origin has the equation

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x − 3y + 1 = 0, 2x + 5y − 9 = 0

x − 3y + 1 = 0

x = 2

y = 1

3x + 4y = 10

https://dl.doubtnut.com/l/_c92EMvH94OoB
https://dl.doubtnut.com/l/_mvSpuljB9U14


Exercise 1 A

11. The foot of the perpendicular from (-1, 3) on the straight line

 is  then the quadratic equation in x whose roots

are  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

5x − y − 18 = 0 (α, β)

α and β

x2 + 6x − 8 = 0

x2 + 6x + 8 = 0

x2 − 6x − 8 = 0

x2 − 6x + 8 = 0

1. The equation of the line passing through the point (2, -3) and parallel

to the line joining the point (1, 2) and (-1, 5) is

https://dl.doubtnut.com/l/_mvSpuljB9U14
https://dl.doubtnut.com/l/_EhiUptDVIuUG
https://dl.doubtnut.com/l/_7MPCz982cw61


A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

3x + 2y = 0

2x + 3y − 1 = 0

x − 3y + 6 = 0

x + 3y + 12 = 0

2. The equation of the line passing through the point 

and parallel to  is

A. 

B. 

C. 

D. none

Answer: 1

(a cos3 θ, a sin3 θ)

x cos θ − y sin θ = a

x cos θ + y sin θ = a cos 2θ

x cos θ − y sin θ = a cos 2θ

x sin θ + y sin θ = a cos 2θ

https://dl.doubtnut.com/l/_7MPCz982cw61
https://dl.doubtnut.com/l/_jwKt9olI7FDM


Watch Video Solution

3. The equation of the line perpendicular to the line x = 3 and passing

through (-4, 2) is

A. y=2

B. 

C. 

D. 

Answer: 1

Watch Video Solution

4x + 5y − 38 = 0

3x − 2y = 0

3x − 2y − 1 = 0

4. The equation of the line perpendicular to the line 

and passing through (3, -4) is

A. 

2x + 3y − 5 = 0

3x + 2y − 17 = 0

https://dl.doubtnut.com/l/_jwKt9olI7FDM
https://dl.doubtnut.com/l/_uBLemPxuFKLo
https://dl.doubtnut.com/l/_1LWRBV8yYB6r


B. 

C. 

D. 

Answer: 4

Watch Video Solution

3x − 2y + 17 = 0

3x + 2y + 17 = 0

3x − 2y − 17 = 0

5. If (1, 2), (4, 3), (6, 4) are the midpoints of the sides  of 

, then the equation of AB is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

¯̄̄ ¯̄¯BC, ¯̄̄ ¯̄¯CA, ¯̄̄ ¯̄¯AB

ΔABC

2x − 3y − 13 = 0

2x + 3y − 1 = 0

x − 3y + 6 = 0

x + 3y + 12 = 0

https://dl.doubtnut.com/l/_1LWRBV8yYB6r
https://dl.doubtnut.com/l/_f4tJF6M4rXFp


6. If (2, 1), (-1, -2), (3, 3) are midpoints of sides BC, CA, AB of , then

the equation of AB is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

ΔABC

x − y = 1/2

x + y = 1

x − y = 9

x = y

7. Let PS be the median of the triangle with vertices P(2, 2), Q(6, -1) and R(7,

3). The equation of the line passing through (1, -1) and parallel to PS is

A. 

B. 

4x + 7y + 3 = 0

2x − 9y − 11 = 0

https://dl.doubtnut.com/l/_f4tJF6M4rXFp
https://dl.doubtnut.com/l/_1lbdP5Ptbjhs
https://dl.doubtnut.com/l/_y7SJpfh6vBv9


C. 

D. 

Answer: 4

Watch Video Solution

4x − 7y − 11 = 0

2x + 9y + 7 = 0

8. The area of a triangle is 5 square unit. Two of its vertices are (2, 1), (3, -2)

and the third vertex lies on the line . The third vertex can be

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

y = x + 3

(7/2, 13/2)

(3/2, 3/2)

(7/2, − 13/2)

(3/2, − 3/2)

https://dl.doubtnut.com/l/_y7SJpfh6vBv9
https://dl.doubtnut.com/l/_Qv0nu4Z0RIpm
https://dl.doubtnut.com/l/_CyEVtsWEnRsz


9. If  are distinct, the points 

 are collinear if

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

t1, t2 and t3

(t1, 2at1 + at3
1), (t2, 2at2 + at3

2) and (t3, 2at3 + at3
3)

t1t2t3 = 1

t1 + t2 + t3 = t1t2t3

t1 + t2 + t3 = 0

t1 + t2 + t3 = − 1

10. The medians AD and BE of the triangle with vertices A(0, b), B(0, 0) and

C(a, 0) are mutually perpendicular if

A. 

B. 

C. 

b = √2a

a = √2b

b = − √2a

https://dl.doubtnut.com/l/_CyEVtsWEnRsz
https://dl.doubtnut.com/l/_vwNyt5uBGzwa


D. 

Answer: 2

Watch Video Solution

a = − √b

11. If  as well as  are in G.P with same common ratio,

then the points 

A. lie on a straight line

B. lie on an ellipse

C. lie on a circle

D. are vartices of a triangle

Answer: 1

Watch Video Solution

x1, x2, x3 y1, y2, y3

P (x1, y1), Q(x2, y2) and R(x3, y3)

https://dl.doubtnut.com/l/_vwNyt5uBGzwa
https://dl.doubtnut.com/l/_Ffe6Y7lNqkE6


12. The equation of the line having slope  and x-intercept  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−4/3 −2/5

3x − 4y + 20 = 0

2x − 3y − 14 = 0

8x + 12y − 9 = 0

20x + 15y + 8 = 0

13. The equation of the line having slope  and y-intercept  is

A. 

B. 

C. 

D. 

−2/3 3/4

3x − 4y + 20 = 0

2x − 3y − 14 = 0

8x + 12y − 9 = 0

20x + 15y + 8 = 0

https://dl.doubtnut.com/l/_Pr6m4Hq08R8F
https://dl.doubtnut.com/l/_lw8b2oQg4kIa


Answer: 3

Watch Video Solution

14. The equation of the straight line making an intercept of 3 unit of the

y-axis and inclined at  to the x-axis is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

45∘

y = x − 1

y = x + 3

y = 45x + 3

y = x + 45

15. The equation of the line having inclination  and y-intercept -3 is120∘

https://dl.doubtnut.com/l/_lw8b2oQg4kIa
https://dl.doubtnut.com/l/_xphotOB59kP4
https://dl.doubtnut.com/l/_175RsTRrvj0q


A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

x + y − 5 = 0

√3x + y + 3 = 0

x + y − 2 = 0

x − y − 5 = 0

16. The slope of the line  is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

4x − 5y − 1 = 0

3/2

−3/2

−3/4

4/5

https://dl.doubtnut.com/l/_175RsTRrvj0q
https://dl.doubtnut.com/l/_VEfZnscQoCnD


17. The inclination of the line  is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

x − y + 2 = 0

π/4

3π/4

π/2

π/3

18. Reduce the equation of the line  into slope

intercept form

A. 

B. 

C. 

8x + 6y − 15 = 0

y = 3x +
5

3

y = x + 2
3

4

y = x + 5
5

2

https://dl.doubtnut.com/l/_VEfZnscQoCnD
https://dl.doubtnut.com/l/_PofhEkbgzMN0
https://dl.doubtnut.com/l/_bcMcHyO25JrG


D. 

Answer: 4

Watch Video Solution

y = − x +
4
3

5

2

19. The equation of the line having x-intercept , y-intercept  is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

−3/2 3/4

3x + 2y − 6 = 0

2x − 4y + 3 = 0

2x + 3y − 5 = 0

4x − 3y − 12 = 0

20. The intercepts of the line  are3y − 5x + 7 = 0

https://dl.doubtnut.com/l/_bcMcHyO25JrG
https://dl.doubtnut.com/l/_y8lMh3Vp3oIH
https://dl.doubtnut.com/l/_6m02VYE3UCUl


A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

−2, 3/2

7/5, − 7/3

21/5, 7/2

2, 4/3

21. The intercepts of line joining the points (4, -7), (1, -5) are

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

5, 5/3

7/5, − 7/3

5, 7/2

−13/2, − 13/3

https://dl.doubtnut.com/l/_6m02VYE3UCUl
https://dl.doubtnut.com/l/_aHfTCjl9cFyo


22. Reduce the equation of the line  into intercepts form

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

2x + 3y − 5 = 0

+ = 1
x

7

y

7

+ = 1
x

−7/4

y

7/5

+ = 1
x

5/2

y

5/3

+ = 1
x

−3√2

y

−3√2

23. Reduce the equation of the line  into

intercepts form

A. 

B. 

C. 

x cosα + y sinα − p = 0

+ = 1
x

p/sinα

y

p/cosα

+ = 1
x

p/cosα

y

p/sinα

+ = 1
x

p/tanα

y

p/cot α

https://dl.doubtnut.com/l/_aHfTCjl9cFyo
https://dl.doubtnut.com/l/_M07OtdZ4rwCw
https://dl.doubtnut.com/l/_cMIXwsqOY9dc


D. 

Answer: 2

Watch Video Solution

+ = 1
x

p/cot α

y

p/tanα

24. The area of the triangle formed by the line  with the

coordinateaxes is

A.  sq. unit

B.  sq. unit

C. 12 sq. unit

D.  sq. unit

Answer: 4

Watch Video Solution

3x + 2y + 7 = 0

25/16

49/8

49/12

https://dl.doubtnut.com/l/_cMIXwsqOY9dc
https://dl.doubtnut.com/l/_8dTB8oI5sy2T


25. The area (in square units) of the triangle formed by the lines

 and  is

A. 3

B. 4

C. 6

D. 12

Answer: 3

Watch Video Solution

x = 0, y = 0 3x + 4y = 12

26. The area of the triangle formed by the line  with the

coordinate axes is

A.  sq. unit

B.  sq. unit

C. 12 sq. unit

x/4 + y/6 = 1

25/16

49/8

https://dl.doubtnut.com/l/_uYfOIGU88pHd
https://dl.doubtnut.com/l/_bSIlSCEVJDZr


D.  sq. unit

Answer: 3

Watch Video Solution

49/12

27. The area of the triangle formed by the line  with

the coordinate axes is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

x cosα + y sinα = p

p2|sin 2α|

p2|cos 2α|

p2|sec 2α|

p2|cosec2α|

https://dl.doubtnut.com/l/_bSIlSCEVJDZr
https://dl.doubtnut.com/l/_XgeHMbdT3bh7


28. The area of the triangle formed by the line passing through the points

(5, -3), (2, 6) with the coordinate axes is

A. 24 sq. unit

B.  sq. unit

C.  sq. unit

D.  sq. unit

Answer: 1

Watch Video Solution

49/8

1/2

49/12

29. The area of the triangle formed by the axes and the line

 in sq. unit, is

A. 4

B. 3

C. 2

cos hα − sinhα)x + (cos hα) + sinhα) = 2

https://dl.doubtnut.com/l/_3NQlKT3ytzBo
https://dl.doubtnut.com/l/_c8kTZSDnsvr6


D. 1

Answer: 3

Watch Video Solution

30. If the area of the triangle formed by the lines

 is 1, then

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

x = 0, y = 0, 3x + 4y = a(a > 0)

√6

2√6

4√6

6√2

https://dl.doubtnut.com/l/_c8kTZSDnsvr6
https://dl.doubtnut.com/l/_5t4Khz6fba8z


31. The sum of the reciprocals of intercepts made by the line

 on the coordinate axes is

A. 2

B. -1

C. 

D. 1

Answer: 4

Watch Video Solution

ax + by = a + b

a − b

a + b

32. The equation of the line having intercepts a, b on the axes such that

 is

A. 

B. 

C. 

a + b = 5, ab = 6

x + y = 5

3x + 2y − 6 = 0, 2x + 3y − 6 = 0

x − 3y − 3 = 0, 3x − y + 3 = 0

https://dl.doubtnut.com/l/_SNtHYRUOyRRf
https://dl.doubtnut.com/l/_GbeYvBF9Lrwn


D. 

Answer: 2

Watch Video Solution

2x + 10y − 5 = 0, 10x + 2y − 5 = 0

33. A line makes intercepts whose sum is 9 and product is 20. If the x-

intercept is greater, then the equation of the line is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

4x + 5y = 20

5x + 4y = 20

5x − 4y = 20

5x + 4y = − 20

https://dl.doubtnut.com/l/_GbeYvBF9Lrwn
https://dl.doubtnut.com/l/_ufvfOnmVdf3E


34. The equation of the line passing through (2, -1) and having equal

intercepts is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

x + y − 1 = 0

x − y + 7 = 0

x + y + 1 = 0 or x + 4y − 2 = 0

2x + 10y − 5 = 0, 10x + 2y − 5 = 0

35. The equatioin of the line passing through (-4, 3) and having intercepts

equal in magnitude but opposite in sign is

A. 

B. 

C. 

x − y − 5 = 0

x − y + 5 = 0

x + y − 1 = 0

https://dl.doubtnut.com/l/_vRuGBoc1IlIQ
https://dl.doubtnut.com/l/_ww5pSYsiBtLI


D. 

Answer: 4

Watch Video Solution

x − y + 7 = 0

36. The equation of the straight line passing through the point (4, 3) and

making intercepts on the co-ordinate axes whose sum is -1 is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

+ = − 1 and + = − 1
x

2

y

3
x

−2

y

1

− = 1 and + = 1
x

2

y

3
x

−2

y

1

+ = 1 and + = 1
x

2

y

3
x

2

y

1

− = − 1 and + = − 1
x

2

y

3
x

−2

y

1

https://dl.doubtnut.com/l/_ww5pSYsiBtLI
https://dl.doubtnut.com/l/_kyZDE5WUdY2Y


37. The equation of the line passing through (-2, 1) and having intercepts

whose product is 1 is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

x + y − 1 = 0

x − y + 7 = 0

x + y + 1 = 0 or x + 4y − 2 = 0

2x + 3y = 1 or 9x − 10y = 75

38. The equation of the line passing through (2, 0) and having intercepts

whose ratio is m : n is

A. 

B. 

C. 

nx + my = m

nx + my = 2n

nx + my = n

https://dl.doubtnut.com/l/_glbJfHOEvDc8
https://dl.doubtnut.com/l/_39FZCbrk9FFY


D. 

Answer: 2

Watch Video Solution

nx + my = 2m

39. The equation of the line passing through (-4, 3) and having intercepts

whose ratio is  is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

5: 3

9x + 20y − 96 = 0

3x + 5y = 3

9x + 20y + 96 = 0

9x − 20y − 96 = 0

https://dl.doubtnut.com/l/_39FZCbrk9FFY
https://dl.doubtnut.com/l/_rjgQELSgk5Sg


40. The equation of the line passing through the point P(1, 2) such that P

bisects the part intercepted between the axes is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

x + 2y = 5

x − y + 1 = 0

x + y − 31 = 0

2x + y − 4 = 0

41. A straight line through the point A(3, 4) is such that its intercept

between the axes is bisected at A. Its equation is

A. 

B. 

C. 

4x + 3y = 24

3x + 4y = 25

x + y = 7

https://dl.doubtnut.com/l/_qQqGqDYQaNdQ
https://dl.doubtnut.com/l/_Wu3xe5jcXCjS


D. 

Answer: 1

Watch Video Solution

3x − 4y + 7 = 0

42. The portion of a line intercepted between the coordinate axes is

bisected by the point . The equation of the line is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

(x1, y1)

+ = 0
x

x1

y

y1

− = 0
x

x1

y

y1

+ = 2
x

x1

y

y1

− = 2
x

x1

y

y1

https://dl.doubtnut.com/l/_Wu3xe5jcXCjS
https://dl.doubtnut.com/l/_TNvf8PXyb6lc


43. The portion of a line intercepted between the coordinate axes is

divided by the point  in the ratio . The equation of the line is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

(2, − 1) 3: 2

5x − 2y − 20 = 0

2x − y + 7 = 0

3x − 4y − 10 = 0

2x + y − 4 = 0

44. The equation of the line whose x-intercept is  and which is parallel

to  is

A. 

B. 

C. 

2/5

2x − 3y + 5 = 0

2x − 5y + 4 = 0

10x − 15y − 4 = 0

28x − 21y + 12 = 0

https://dl.doubtnut.com/l/_M9KmaX8qfUou
https://dl.doubtnut.com/l/_Ix4kO2egI3ci


D. 

Answer: 2

Watch Video Solution

20x + 12y + 9 = 0

45. The equation of the line whsoe y-intercept is  and which is

parallel to  is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

−3/4

5x + 3y − 7 = 0

2x − 5y + 4 = 0

10x − 15y − 4 = 0

28x − 21y + 12 = 0

20x + 12y + 9 = 0

https://dl.doubtnut.com/l/_Ix4kO2egI3ci
https://dl.doubtnut.com/l/_rZqHDclnAiji


46. The equation of the line whose x-intercept is  and which is

perpendicular to  is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

−3/7

3x + 4y − 10 = 0

2x − 5y + 4 = 0

10x − 15y − 4 = 0

28x − 21y + 12 = 0

20x + 12y + 9 = 0

47. The distance between the parallel lines 5x+2y+7=0 and

 is

Watch Video Solution

5x + 2y + 4 = 0

https://dl.doubtnut.com/l/_oa4SbK2IEQ44
https://dl.doubtnut.com/l/_kU1IFnDbCH2B


48. The coordinate axes are roted about the origin O in the

counterclockwise direction through an angle . If p and q are the

intercepts made on the new axes by a straight line whose equation

refered to the original axes is  then 

A. 2

B. 4

C. 6

D. 8

Answer: 1

Watch Video Solution

60∘

x + y = 1 1/p2 + 1/q2 =

49. The sides of a triangle are

. P(0,b) is a point on

y-axis. If P lies on the triangle or inside the triangle then the range of b is

3x + 2y − 6 = 0, 2x − 3y + 6 = 0, x + 2y + 2 = 0

https://dl.doubtnut.com/l/_xyP6lQYee292
https://dl.doubtnut.com/l/_bQUIHccXXAJM


A. [-1, 3]

B. [2, 3]

C. [-1, 2]

D. [-2, 2]

Answer: 3

Watch Video Solution

50. A straight line through the point (2, 2) intersects the lines

 and  at the points A and B. The equation to

the line AB so that the triangle OAB is equilateral is

A. 

B. 

C. 

D. none

√3x + y = 0 √3x − y = 0

x − 2 = 0

y − 2 = 0

x + y − 4 = 0

https://dl.doubtnut.com/l/_bQUIHccXXAJM
https://dl.doubtnut.com/l/_GsrPinAt5vBN


Answer: 2

Watch Video Solution

51. A straight line L is perpendicular to the line . The area of

the triangle formed by the line L and coordinate axes is 5. The equation of

the line L is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

5x − y = 1

x + 5y = ± 5√2

x + 5y = ± 2√5

5x − y = ± 5√2

5x − y = ± 2√5

https://dl.doubtnut.com/l/_GsrPinAt5vBN
https://dl.doubtnut.com/l/_PtEbAAiNH42g


52. Each sides of a square is of lemgth 4 units. The centre of the square is

 and one of its diagonals is parallel to . Find the co-ordinates

of its vertices.

A. (1, 5), (1, 9), (5, 9), (5, 5)

B. (2, 5), (2, 7), (4, 7), (4, 4)

C. (2, 5), (2, 6), (3, 5), (3, 6)

D. none

Answer: 1

Watch Video Solution

(3, 7) y = x

53. A(-1, 1), B(5, 3) are opposite vertices of a square. The equation of the

other diagonal (not passing through A, B) of the square is

A. 

B. 

2x − 3y + 4 = 0

2x − y + 3 = 0

https://dl.doubtnut.com/l/_QDTbrjYUHuPy
https://dl.doubtnut.com/l/_7eCyJ097lZdL


C. 

D. 

Answer: 3

Watch Video Solution

y + 3x − 8 = 0

x + 2y − 1 = 0

54.  is a vertex of a square and one of its diagonals is 

. Find the equation of a the other diagonal.

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

( − 4, 5)

7x − y + 8 = 0

x + 7y − 31 = 0

x + 7y − 15 = 0

x + 7y + 8 = 0

7x − y − 31 = 0

https://dl.doubtnut.com/l/_7eCyJ097lZdL
https://dl.doubtnut.com/l/_b8sAQIZDuiMa
https://dl.doubtnut.com/l/_sVHfFIN9ri56


55. If  be three vertices of a

square, then the diagonal through B is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

A(1, 1), B(√3 + 1, 2) and C(√3, √3 + 2)

y = (√3 − 2)x + (3 − √3)

y = 0

y = x

y = (√3 − 2)x + √3 + 1

56. In a rhombus ABCD the diagonals AC and BD intersect at the point (3,

4). If the point A is (1, 2) the diagonal BD has the equation

A. 

B. 

C. 

x − y − 1 = 0

x + y − 1 = 0

x − y + 1 = 0

https://dl.doubtnut.com/l/_sVHfFIN9ri56
https://dl.doubtnut.com/l/_ZkMIIslUXZRO


D. 

Answer: 4

Watch Video Solution

x + y − 7 = 0

57. Points A(1, 3) and C(5, 1) are oppsite vertices of a rectangle ABCD. If the

slope of BD is 2, then its equation is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

2x − y = 4

2x + y = 4

2x + y − 7 = 0

2x + y + 7 = 0

https://dl.doubtnut.com/l/_ZkMIIslUXZRO
https://dl.doubtnut.com/l/_Yewsf4ZrcxTx


58. If the straight lines 

represent the three consecutive sides of a rectangle then ab =

A. 18

B. -3

C. 

D. 

Answer: 1

Watch Video Solution

y = 4 − 3x, ay = x + 10, 2y + bx + 9 = 0

1/2

−1/3

59. If the lines  form three

sides of the rectangle in order and the fourth side passes through (1, -2)

then its equation is

A. 

B. 

y = 4 − 3x, ay = x + 10, 2y + bx + 9 = 0

x − 3y − 7 = 0

x − 3y + 7 = 0

https://dl.doubtnut.com/l/_pnzDuvmL1TPT
https://dl.doubtnut.com/l/_WRQruTOvXDyf


C. 

D. none

Answer: 1

View Text Solution

x + 3y − 7 = 0

60. One side of a rectangle lies along the line . Two of its

vertices are (-3, 1) and (1, 1). Then the equations of the other sides are

A. 

B. 

C. 

D. none

Answer: 1

Watch Video Solution

4x + 7y + 5 = 0

7x − 4y + 25 = 0, 4x + 7y − 11 = 0, 7x − 4y − 3 = 0

7x − 4y + 11 = 0, 4x + 7y − 25 = 0, 7x − 4y + 3 = 0

7x − 4y + 2 = 0, 4x + 7y − 12 = 0, 7x − 4y − 13 = 0

https://dl.doubtnut.com/l/_WRQruTOvXDyf
https://dl.doubtnut.com/l/_qKfQ316g9s8R
https://dl.doubtnut.com/l/_qOPEgEMvVvFK


61. The points (1, 3) and (5, 1) are two opposite vertices of a rectangle. The

other two vertices lie on the line . The remaining vertices are

A. (2, 0), (4, 4)

B. (-2, 0), (3, 4)

C. (2, 0), (3, 4)

D. (-2, 0), (4, 4)

Answer: 1

Watch Video Solution

y = 2x + c

62. The points (1, 6) and (12, 9) are two opposite vertices of a

parallelogram. The other two vertices lie on the line . Then

k =

A. 35

B. 49

3y = 11x + k

https://dl.doubtnut.com/l/_qOPEgEMvVvFK
https://dl.doubtnut.com/l/_1T6SOagcMBeD


C. -35

D. -49

Answer: 4

Watch Video Solution

63. The number of points P(x, y) with natural numbers as coordinates that

lie inside the quadrilateral formed by the lines

 is

A. 12

B. 10

C. 6

D. 4

Answer: 3

Watch Video Solution

2x + y = 2, x = 0, y = 0 and x + y = 5

https://dl.doubtnut.com/l/_1T6SOagcMBeD
https://dl.doubtnut.com/l/_k8tbEDHBlQ1U


64. Let A(2, -3) and B(-2, 1) be vertices of a triangle ABC. If the centroid of

this triangle moves on the line , then the locus of the vertex

C is the line

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

2x + 3y = 1

2x + 3y = 9

3x − 2y = 3

3x + 2y = 5

2x − 3y = 7

65. A(2, 3), B(3, -5) are two vertices of . C is a point the line 

. Then the locus of the centroid of  is a line

parallel to

A. AB

ΔABC

L ≡ 3x + 4y − 5 = 0 ΔABC

https://dl.doubtnut.com/l/_k8tbEDHBlQ1U
https://dl.doubtnut.com/l/_Pm7c3LnoMrhQ
https://dl.doubtnut.com/l/_PTz4YkfFlzRo


B. BC

C. AC

D. 

Answer: 4

Watch Video Solution

L = 0

66. The equation of the line dividing the line segment joining the points

(1, 1), (2, 4) in the ratio  and parallel to  is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

1: 2 3x − 4y + 5 = 0

x + 2y − 12 = 0

5x − 2y − 10 = 0

3x − 4y − 24 = 0

3x − 4y + 4 = 0

https://dl.doubtnut.com/l/_PTz4YkfFlzRo
https://dl.doubtnut.com/l/_cGz94oisbAAl


67. The equation of the line dividing the line segment joining the points

(2, 5), (6, 3) in the ratio  externally and parallel to  is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

3: 4 x + 2y + 7 = 0

x + 2y − 12 = 0

5x − 2y − 10 = 0

x + 2y − 24 = 0

3x − 4y + 4 = 0

68. The equation of the line dividing the line segment joining the points

(2, -3), (1, 2) in the ratio  and perpendicular to  is

A. 

B. 

2: 3 2x + 5y − 1 = 0

x + 2y − 12 = 0

5x − 2y − 10 = 0

https://dl.doubtnut.com/l/_cGz94oisbAAl
https://dl.doubtnut.com/l/_KDUPmXbJgr7J
https://dl.doubtnut.com/l/_yB9ORz9riyVt


C. 

D. 

Answer: 2

Watch Video Solution

3x − 2y − 24 = 0

5x − 2y + 4 = 0

69. The equation of the line dividing the line segment joining the points

(5, 3), (3, -3) in the ratio  externally and perpendicular to 

 is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

5: 3

2x + 3y − 5 = 0

x + 2y − 12 = 0

5x − 2y − 10 = 0

3x − 2y − 24 = 0

5x − 2y + 4 = 0

https://dl.doubtnut.com/l/_yB9ORz9riyVt
https://dl.doubtnut.com/l/_MbRUFChAlW4o


70. The equation of the line dividing the line segments joining two pairs

of points (0, 0), (-4, 7) and (2, 3), (4, -5) in the ratio  and 

respectively is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

1: 2 5: 3

52x + 55y − 59 = 0

52x − 55y + 59 = 0

52x + 55y + 59 = 0

52x − 55y − 59 = 0

71. If a straight line L is perpendicular to the line  and forms

a triangle of area 4 square units with the coordinate axes, then an

equation of the line L is

A. 

4x − 2y = 1

2x + 4y + 7 = 0

https://dl.doubtnut.com/l/_MbRUFChAlW4o
https://dl.doubtnut.com/l/_WxzullUz5hRF
https://dl.doubtnut.com/l/_o3Vb65UmWREu


B. 

C. 

D. 

Answer: 3

Watch Video Solution

2x − 4y + 8 = 0

2x + 4y + 8 = 0

4x − 2y − 8 = 0

72. The equation to the line parallel to  and forming an

area  sq. unit with the coordinate axes is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

2x + 3y − 5 = 0

4/3

2x + 3y ± 4 = 0

3x + 2y − 4 = 0

3x + 2y ± 4 = 0

2x + 3y + 2 = 0

https://dl.doubtnut.com/l/_o3Vb65UmWREu
https://dl.doubtnut.com/l/_owrpWbl4LbGa


73. If a straight line perpendicular to  forms a triangle

with the coordinate axes whose area is 3 sq. units, then the equation of

the straight line(s) is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

2x − 3y + 7 = 0

3x + 2y = ± 2

3x + 2y = ± 6

3x + 2y = ± 8

3x + 2y = ± 4

74. The equation of a straight line, perpendicular to  and

forming a triangle of area 6 square units with coordinate axes, is

A. 

3x − 4y = 6

4x + 3y = 12

https://dl.doubtnut.com/l/_owrpWbl4LbGa
https://dl.doubtnut.com/l/_wj7bTtJD5f8R
https://dl.doubtnut.com/l/_DYMyLnbTVLn2


B. 

C. 

D. 

Answer: 1

Watch Video Solution

4x + 3y + 24 = 0

3x + 4y = 12

x − 2y = 6

75. The line  cuts the axes at A and B. The equation to

the perpendicular bisector of AB is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

4x + 3y + 1 = 0

27x + 63y = 2

32x − 24y = 5

24x + 32y = 0

72x − 96y = 7

https://dl.doubtnut.com/l/_DYMyLnbTVLn2
https://dl.doubtnut.com/l/_ZKGFxjwpSgKz


76. The perpendicular bisector of the line segment joining P(1, 4) and Q(k,

3) has y-intercept -4. Then a possible value of k is

A. 2

B. -2

C. -4

D. 1

Answer: 3

Watch Video Solution

77. The variable line  is such that . The locus of

the midpoint of the portion of the line intercepted between theaxes is

A. 

B. 

x/a + y/b = 1 a + b = 10

x + y = 10

10x + 5y = 1

https://dl.doubtnut.com/l/_ZKGFxjwpSgKz
https://dl.doubtnut.com/l/_1raGkS4zBwtx
https://dl.doubtnut.com/l/_5poM5sRTMvS2


C. 

D. 

Answer: 3

Watch Video Solution

x + y = 5

5x + 10y = 1

78. The ends of a rod of length  move on two mutually perpendicular

lines. The locus of the point on the rod which divides it in the ratio 1 : 2 is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

l

36x2 + 9y2 = 4l2

36x2 + 9y2 = l2

9x2 + 36y2 = 4l2

9x2 + 36y2 = l2

https://dl.doubtnut.com/l/_5poM5sRTMvS2
https://dl.doubtnut.com/l/_pPPZ8jbB3kcM
https://dl.doubtnut.com/l/_NEX51m2O3n6l


79. If one vertex of an equilateral triangle of side a lies at the origin and

the other lies on the line  then the third vertex is

A. (a, 0)

B. (-a, 0)

C. (0, a)

D. (a, a)

Answer: 3

Watch Video Solution

x = √3y

80. Two equal sides of isosceles triangle are given by equation

 and . The slope of the thrid side is

A. 

B. 

C. 

7x − y + 3 = 0 x + y − 3 = 0

−3, 1/3

3, − 1/3

3, 1/3

https://dl.doubtnut.com/l/_NEX51m2O3n6l
https://dl.doubtnut.com/l/_7U8FLbGOwPWX


D. 

Answer: 1

Watch Video Solution

−3, − 1/3

81. Two equal sides of an isoceles triangle are given by 7x-y+3=0 and x+y-

3=0 and the third side passes through the point (1,10) then slope m of the

third side is given by

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

3x + y + 7 = 0

x − 3y + 29 = 0

3x + y + 3 = 0

3x + y − 3 = 0

https://dl.doubtnut.com/l/_7U8FLbGOwPWX
https://dl.doubtnut.com/l/_I5920nYarPIG
https://dl.doubtnut.com/l/_cpKfNGIDstHz


82. Two equal sides of an isoceles triangle are given by 7x-y+3=0 and x+y-

3=0 and the third side passes through the point (1,10) then slope m of the

third side is given by

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

3x + y + 7 = 0

x − 3y + 29 = 0

3x + y + 3 = 0

3x + y − 3 = 0

83. The perpendicular form of the line  is

A.  where 

B.  where 

C.  where 

3x + 4y − 5 = 0

x cosα + y sinα = 1 cosα = 3/5, sinα = 4/5

x cosα − y sinα = 1 cosα = 3/5, sinα = 4/5

x cosα + y sinα = 1 cosα = 4/5, sinα = 3/5

https://dl.doubtnut.com/l/_cpKfNGIDstHz
https://dl.doubtnut.com/l/_o4xsAA4t5TBz


D.  where 

Answer: 1

Watch Video Solution

x cosα − y sinα = 1 cosα = 4/5, sinα = 3/5

84. The locus of the midpoint of the protion of the line

 where p is a constant, intercepted between the

axes is

A. 

B. 

C. 

D. 

Answer: 1

View Text Solution

x cosα + y sinα = p

p2(x2 + y2) − 4x2y2

p2(x2 + y2) − 2x2y2

4(x2 + y2) = p2x2y2

2(x2 + y2) = p2x2y2

https://dl.doubtnut.com/l/_o4xsAA4t5TBz
https://dl.doubtnut.com/l/_xNu367hwUbVq
https://dl.doubtnut.com/l/_Hav4s2xCNxye


85. The algebraic sum of the perpendicular distances from A, B, C to a

variable line is 0. Then the line passes through

A. orthocentre of 

B. centroid of 

C. circumcentre of 

D. incentre of 

Answer: 2

Watch Video Solution

ΔABC

ΔABC

ΔABC

ΔABC

86. If the algebraic sum of the perpendicular distances from the points

(2,0),(0,2),(4,4) to a variable line is equal to zero. Then the line passes

through the point.

A. (1, 1)

B. (2, 1)

https://dl.doubtnut.com/l/_Hav4s2xCNxye
https://dl.doubtnut.com/l/_JRpWfp93kgMu


C. (1, 2)

D. (-1, -1)

Answer: 1

Watch Video Solution

87. A square of side "a" lies above the x-axis and has one vertex at the

origin. The side passing through the origin makes an angle

 with the positive direction of x-axis, the equation

of its diagonal not passing through the origin is

A. 

B. 

C. 

D. 

Answer: 4

W t h Vid S l ti

α  where o < α <
π

4

y(cosα − sinα) − x(sinα − cosα) = a

y(cosα + sinα) + x(sinα − cosα) = a

y(cosα + sinα) + x(sinα + sinα) = a

y(cosα + sinα) + x(cosα − sinα) = a

https://dl.doubtnut.com/l/_JRpWfp93kgMu
https://dl.doubtnut.com/l/_sqWDqXKqsmfp


Watch Video Solution

88. The distance of the point (2,3) from the line 

measured along a line  is

A. 

B. 2

C. 

D. 

Answer: 4

Watch Video Solution

2x − 3y + 9 = 0

x − y + 1 = 0

√2

2√2

4√2

89. The distance of the line  from the point (4,1) measured

along a line making an angle  wih the x-axis is

A. 0

3x − y = 0

135∘

https://dl.doubtnut.com/l/_sqWDqXKqsmfp
https://dl.doubtnut.com/l/_EUWJVpd08eY9
https://dl.doubtnut.com/l/_I58E01RsBKb6


B. 

C. 

D. 

Answer: 3

Watch Video Solution

13√2/2

11√2/4

7√2/5

90. A line through (2, 3) makes and angle  with the positive direction

of x-axis. The length of the line segment between (2, 3) and the line

 is

A. 1

B. 2

C. 

D. 

Answer: 3

π/4

x + y − 7 = 0

√2

2√2

https://dl.doubtnut.com/l/_I58E01RsBKb6
https://dl.doubtnut.com/l/_hVLrUhMrRs7U


Watch Video Solution

91. If the straight line through the point P(3,4) makes an angle  with

the x-axis in the positive direction and meets the line  at

Q the length PQ is

A. 30

B. 

C. 

D. 

Answer: 4

Watch Video Solution

π/6

3x + 5y + 1 = 0

30(√3 − 1)

√3 − 1

15(3√30 − 5√10)

92. The distance between the parallel lines

 is4x + 3y + 7 = 0, 12x + 9y + 1 = 0

https://dl.doubtnut.com/l/_hVLrUhMrRs7U
https://dl.doubtnut.com/l/_E81yHV3l8Emw
https://dl.doubtnut.com/l/_MUdXmWHvtG3e


A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

2

3

4
3

29

4√13

9

2√5

93. The distance between the parallel lines

 is

Watch Video Solution

2x − y + 3 = 0, 2x − y − 4 = 0

94. The line L given by  passes through the point (13,32). The

line K is parallel to L and has the equation . Then the

distance between L and K is

+ = 1
x

5

y

b

+ = 1
x

c

y

3

https://dl.doubtnut.com/l/_MUdXmWHvtG3e
https://dl.doubtnut.com/l/_pHcN8kQfsa9D
https://dl.doubtnut.com/l/_zA4Wcnv2glgA


A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

23

√15

c

√17

17

√15

23

√17

95. The area (in square units) of the circle which touches the lines

 is

A. 

B. 

C. 

D. 

Answer: 4

4x + 3y = 15 and 4x + 3y = 5

4π

3π

2π

π

https://dl.doubtnut.com/l/_zA4Wcnv2glgA
https://dl.doubtnut.com/l/_nx3QfSlSiFK6


Watch Video Solution

96. The lines  form

three sides of two squares. The equation of the fourth side is

A. 

B. 

C. 

D. 

Answer: 1

View Text Solution

x + 2y − 3 = 0, x + 2y + 7 = 0, 2x − y − 4 = 0

2x − y − 14 = 0 or 2x − y + 6 = 0

2x − y − 8 = 0 or 2x − y + 16 = 0

x − 2y − 14 = 0 or x − 2y + 6 = 0

x + 2y − 14 = 0 or x + 2y + 6 = 0

97. The vetices of a triangle are O(0, 0), B(-3, -1), C(-1, -3). The equation of

the line parallel to BC and intersecting the sides OB and OC whose

perpendicular distance from O is  is1/2

https://dl.doubtnut.com/l/_nx3QfSlSiFK6
https://dl.doubtnut.com/l/_0dT4Abtp03e9
https://dl.doubtnut.com/l/_aSmiv3rsKE3M


A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

x + y = 1/√2

x + y = − 1/√2

x + y = − 1/2

x + y = 1/2

98. The point on the line  whose distance from 

 is  is

A. (6, 9)

B. (-6, 9)

C. (9, 6)

D. (-9, 6)

Answer: 4

x + y + 3 = 0

x + 2y + 2 = 0 √5

https://dl.doubtnut.com/l/_aSmiv3rsKE3M
https://dl.doubtnut.com/l/_UgmTSfL6Otxz


Watch Video Solution

99. If  are the perpendicular distance from the origin to the two

perpendicular to each other, then the locus of the point of intersection of

the perpendicular lines is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

p1, p2

x2 + y2 = p2
1 + p2

2

x + y = p1 + p2

x2 − y2 = p2
1 − p2

2

x − y = p1 − p2

100. The slope of a straight line passing through A(5, 4) is . The

points on the line that are 13 unit away from A are

−5/12

https://dl.doubtnut.com/l/_UgmTSfL6Otxz
https://dl.doubtnut.com/l/_z9xhMDYt85fp
https://dl.doubtnut.com/l/_PvT3eSZwGeY4


A. (-8, 11), (4, -5)

B. (-7, 9), (17, -1)

C. (7, 5), (-1, 1)

D. (6, 10), (3, 5)

Answer: 2

Watch Video Solution

101. A line passing through A(1, -2) has slope 1. The points on the line at a

distance of  unit from A are

A. (3, -6)(5, 2)

B. (-3, -6), (5, -2)

C. (-3, -6), (5, 2)

D. (3, 6), (-5, 2)

Answer: 3

4√2

https://dl.doubtnut.com/l/_PvT3eSZwGeY4
https://dl.doubtnut.com/l/_I2iSCIazpKrU


Watch Video Solution

102. A line is drawn through P(3, 4) inclined at an angle  with x-axis.

The points on the line on opposite sides of P at distance  from, it are

A. (2, 5), (4, 3)

B. (-2, -5), (-4, -3)

C. (2, 5), (-4, -3)

D. none

Answer: 1

Watch Video Solution

3
π

4

√2

103. A line which makes an acute angle  with the positive dirction of the

x-axis is drown through the point P(3,4) to meet the line x=6 at R and y=8

at S. Then.

θ

https://dl.doubtnut.com/l/_I2iSCIazpKrU
https://dl.doubtnut.com/l/_BdLAkGflxVDD
https://dl.doubtnut.com/l/_cACnM6hHToRA


A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

r2 sin2 θ + 4r(2 sin θ + cos θ) + 4 = 0

r2 sin2 θ + 4r(2 sin θ − cos θ) + 4 = 0

r2 sin2 θ − 4r(2 sin θ + cos θ) + 4 = 0

r2 sin2 θ − 4r(2 sin θ − cos θ) + 4 = 0

104. The ratio in which the line y = x divides the segment joining (2, 3) and

(8, 6) is

A. 

B. 

C. 

D. 

Answer: 1

1: 2

1: − 2

1: 3

1: − 3

https://dl.doubtnut.com/l/_cACnM6hHToRA
https://dl.doubtnut.com/l/_bZwMvrNSYMiI


View Text Solution

105. The ratio in which the line  divides the line segment

joining the points (2, -4), (-3, 1) is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

3x − 4y + 5 = 0

26: 9

27: 8

24: 7

22: 6

106. The ratio in which the line joining the points A(-1, -1) and B(2, 1)

divides the line joining C(3, 4) and D(1, 2) is

A.  internally7: 5

https://dl.doubtnut.com/l/_bZwMvrNSYMiI
https://dl.doubtnut.com/l/_D7s7h9YfJa4L
https://dl.doubtnut.com/l/_6n6EUflXTd2B


B.  externally

C.  internally

D.  externally

Answer: 2

Watch Video Solution

7: 5

7: 11

7: 11

107. If A(2, -1) and B(6, 5) are two points the ratio in which the foot of the

perpendicular from (4, 1) to AB divides it is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

8: 15

5: 8

−5: 8

−8: 5

https://dl.doubtnut.com/l/_6n6EUflXTd2B
https://dl.doubtnut.com/l/_VL0OI7KCti06


108. Let  be a line. The points (3, 4), (1, 2) lie in

A. same side of the line

B. origin side of the line

C. opposite sides of the line

D. none

Answer: 1

Watch Video Solution

2x − 3y + 1 = 0

109. If the line  is denoted by L, then the points (3, -5), (-5, 2)

A. lie on L

B. lie on the same side of L

C. lie on opposite sides of L

D. are equidistant from L

3x + 4y = 8

https://dl.doubtnut.com/l/_VL0OI7KCti06
https://dl.doubtnut.com/l/_1r8DT0QIQ42i
https://dl.doubtnut.com/l/_fA8DI5xOh2sG


Answer: 2

Watch Video Solution

110. Which of the following sets of points lie on the negative side, and on

the positive side respectively of the line  ?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

x − √3y + 1 = 0

(3, √3), (3, 3√3)

(3√3, 3), (3, √3)

(3, √3), (√3, √3)

(3, 3√3), (3, √3)

111. Let O be the origin A(3, -2), B(1, 2) and C(1, 1). The pair of points which

are on different sides of the line  are2x + 3y = 5

https://dl.doubtnut.com/l/_fA8DI5xOh2sG
https://dl.doubtnut.com/l/_AeRJamaxDiNa
https://dl.doubtnut.com/l/_06QuqIcIHjBJ


A. A, B

B. A, C

C. B, C

D. none

Answer: 1

Watch Video Solution

112. If the points (1, 2) and (3, 4) were to be on the same side of the line

 then

A. 

B. 

C. 

D. 

Answer: 4

3x − 5y + a = 0

7 < a < 11

a = 7

a = 11

a < 7 or a > 11

https://dl.doubtnut.com/l/_06QuqIcIHjBJ
https://dl.doubtnut.com/l/_irxsn4Q1aK8D


Watch Video Solution

113. The range of  in  such that the point (3, 5) and  lie

on the same side of the line  is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

θ (0, π) (sin θ, cos θ)

x + y − 1 = 0

(0, π/4)

(0, π/2)

(π/4, 3π/4)

(π/2, 3π/4)

114. The line segment joining the points (1, 2) and (k, 1) is divided by the

line  in the ratio  , then k is

A. 2

3x + 4y − 7 = 0 4: 9

https://dl.doubtnut.com/l/_irxsn4Q1aK8D
https://dl.doubtnut.com/l/_761gLUkiarKh
https://dl.doubtnut.com/l/_PYiPRdoFuONf


B. -2

C. 3

D. -3

Answer: 2

Watch Video Solution

115. If the line  passes through the point which divides the

line segment joining the points (1, 1) and (2, 4) in the ratio  then k

equals

A. 6

B. 

C. 

D. 5

Answer: 1

2x + y = k

3: 2

11

5

29/5

https://dl.doubtnut.com/l/_PYiPRdoFuONf
https://dl.doubtnut.com/l/_LnUSA8v4NNRz


Watch Video Solution

116. The vertices of a triangle are (2, 4), (4, -2), (-3, -6). Then the origin lies

A. inside the triangle

B. outside the triangle

C. on one of the triangle

D. none

Answer: 3

Watch Video Solution

117. Let ABC be a triangle. If P is a point such that AP divides BC in the

ratio , BP divides CA in the ratio  then the ratio in which CP divides

AB is

A. 

2: 3 3: 5

2: 5

https://dl.doubtnut.com/l/_LnUSA8v4NNRz
https://dl.doubtnut.com/l/_h4Bg8UL0HdMy
https://dl.doubtnut.com/l/_quK02STlrMXz


B. 

C. 

D. 

Answer: 3

Watch Video Solution

2: − 5

5: 2

5: − 2

118. A line L cuts the sides AB, BC of  in the ratio 

respectively then the line L cuts CA in the ratio

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

ΔABC 2: 5, 7: 4

7: 10

7: − 10

10: 7

10: − 7

https://dl.doubtnut.com/l/_quK02STlrMXz
https://dl.doubtnut.com/l/_jRj8TvN2v0QG


Exercise 1 B

119. A straight line through the origin O meets the parallel lines

 and  at points P and Q respectively. Then the

point O divides the segment PQ in the ratio

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

4x + 2y = 9 2x + y + 6 = 0

1: 2

3: 4

2: 1

4: 3

1. The point of intersection of the straight lines

 is2x + 3y + 4 = 0, 6x − y + 12 = 0

https://dl.doubtnut.com/l/_jRj8TvN2v0QG
https://dl.doubtnut.com/l/_27Jm6ze0Ch0M
https://dl.doubtnut.com/l/_HidBIqXEwteA


A. (2, -3)

B. (-2, 0)

C. (-2, -1)

D. (-2, 1)

Answer: B

Watch Video Solution

2. The point of intersection of the diagonals of the quadrilateral with

vertices (1, 2), (3, -4), (2, 1), (-1, -2) is

A. 

B. 

C. 

D. 

Answer: A

(7/5, 8/5)

(5/7, 5/8)

( − 7/5, 8/5)

( − 5/7, − 8/7)

https://dl.doubtnut.com/l/_HidBIqXEwteA
https://dl.doubtnut.com/l/_6rzjGXV9oBQC


Watch Video Solution

3. If a,b,c form a GP with common ratio r, the sum of the ordinates of the

points of intersection of the line ax+by+c=0 and the curve  is

A. 

B. 

C. 

D. r

Answer: C

Watch Video Solution

x + 2y2 = 0

−
r2

2

−
r

2

r

2

4. If the lines  are

concurrent, then the point of concurrence is

A. (2, -3)

7x + 2y − 8 = 0, 2x + y − 1 = 0, 3x + 4y + 6 = 0

https://dl.doubtnut.com/l/_6rzjGXV9oBQC
https://dl.doubtnut.com/l/_f3urjXPrm0rw
https://dl.doubtnut.com/l/_pxHTC8KppzNS


B. (6, 11)

C. 

D. 

Answer: A

Watch Video Solution

(78/47, − 181/47)

( − 13/5, 2/5)

5. The lines  and  meet in the

common point

A. (1, 2)

B. (2, 2)

C. (3, 1)

D. (1, 1)

Answer: C

Watch Video Solution

x − y − 2 = 0, x + y − 4 = 0 x + 3y = 6

https://dl.doubtnut.com/l/_pxHTC8KppzNS
https://dl.doubtnut.com/l/_9xhkGPe7ciWn


6. The lines  are

cuncurrent

A. for all a

B. for a = 4 only

C. for 

D. for  only

Answer: A

Watch Video Solution

2x + y − 1 = 0, ax + 3y − 3 = 0, 3x + 2y − 2 = 0

−1 ≤ a ≤ 3

a > 0

7. If the lines  are

concurrent then a =

A. 2

B. 4

3x + y + 2 = 0, 2x − y + 3 = 0, 2x + ay − 6 = 0

https://dl.doubtnut.com/l/_9xhkGPe7ciWn
https://dl.doubtnut.com/l/_AkplS611Kwtt
https://dl.doubtnut.com/l/_OACiJ0cIRZtl


C. 6

D. 8

Answer: D

Watch Video Solution

8. If the lines  are

concurrent, then k =

A. 4

B. 5

C. 6

D. 7

Answer: C

Watch Video Solution

4x + 3y − 1 = 0, x − y + 5 = 0 and kx + 5y − 3 = 0

https://dl.doubtnut.com/l/_OACiJ0cIRZtl
https://dl.doubtnut.com/l/_JNNwnAammeIM
https://dl.doubtnut.com/l/_pDvd488lnwl8


9. The value of k such that the lines 

and  are concurrent, is

A. 20

B. -7

C. 7

D. 

Answer: B

Watch Video Solution

2x − 3y + k = 0, 3x − 4y − 13 = 0

8x − 11y − 33 = 0

−20

10. The condition that the lines

 to be con-current

is

A. 

B. 

ax + hy + g = 0, hx + by + f = 0, gx + fy + c = 0

a + b + c = 0, f + g + h = 0

a + b + c = f + g + h

https://dl.doubtnut.com/l/_pDvd488lnwl8
https://dl.doubtnut.com/l/_QQzxx7xKVpac


C. 

D. 

Answer: C

Watch Video Solution

abc + 2fgh − af 2 − bg2 − ch2 = 0

(a + b + c)(f + g + h) = 0

11. The condition that the three different lines

 to be concurrent is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ax + by + c = 0, bx + cy + a = 0, cx + ay + b = 0

a = b = c

a + b + c = 0

a + b + c = 0, a = b = c

a + b + c = 0 or a = b = c

https://dl.doubtnut.com/l/_QQzxx7xKVpac
https://dl.doubtnut.com/l/_vdEbwp2CWkoF
https://dl.doubtnut.com/l/_0RrQL76s0xSV


12. If  and if 

 are concurrent

then 

A. 8

B. 0

C. 2

D. none

Answer: A

Watch Video Solution

a ≠ b ≠ c

ax + by + c = 0, bx + cy + a = 0, cx + ay + b = 0

2a
2b− 1c− 1

.2b
2c− 1a− 1

2c
2a− 1b− 1

=

13. The condition that the lines

 are concurrent is

A. 

B. 

y = m1x + c1, y = m2x + c2, y = m3x + c3

m1(c2 − c3) + m2(c3 − c1) + m3(c1 − c2) = 0

m1 + m2 + m3 = 0

https://dl.doubtnut.com/l/_0RrQL76s0xSV
https://dl.doubtnut.com/l/_ri6E8OVvxkUq


C. 

D. none

Answer: C

Watch Video Solution

m1c2 − m2c3 + c2m3 = 0

14. If  and the lines 

 are

concurrent then  is

A. 0

B. -1

C. 1

D. none

Answer: A

View Text Solution

t1 ≠ t2 ≠ t3

t1x + y = 2at1 + at3
1, t2x + y = 2at2 + at3

2, t3x + y = 2at3 + at3
3

t1 + t2 + t3

https://dl.doubtnut.com/l/_ri6E8OVvxkUq
https://dl.doubtnut.com/l/_qQ9Uxnz13bnL


15. The equation

will represent the same line if

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

(b − c)x + (c − a)y + a − b = 0(b3 − c3)x + (c3 − a3)y + a3 − b3 = 0

a = b = c

a + b + c = 0

a/b = c/a

16. If the straight lines  and ,

enclose an angle  between them and meet the straight line 

 in the same point, then

A. 

ax + by + c = 0 x cosα + y sinα = c

π/4

x sinα − y cosα = 0

a2 + b2 = c2

https://dl.doubtnut.com/l/_qQ9Uxnz13bnL
https://dl.doubtnut.com/l/_qL4G5hvtu673
https://dl.doubtnut.com/l/_zyZ0vhh5czS4


B. 

C. 

D. 

Answer: B

View Text Solution

a2 + b2 = 2

a2 + b2 = 2c2

a2 + b2 = 4

17. If the point of intersection of  lies

on  then k =

A. 2

B. 3

C. -2

D. -3

Answer: B

Watch Video Solution

kx + 4y + 2 = 0, x − 3y + 5 = 0

2x + 7y − 3 = 0

https://dl.doubtnut.com/l/_zyZ0vhh5czS4
https://dl.doubtnut.com/l/_23SVaL4I1Zup


18. If the lines  are

concurrent, then a, b, c are in

A. A.P

B. G.P

C. H.P

D. A.G.P

Answer: C

Watch Video Solution

x + 2ay + a = 0, x + 3by + b = 0, x + 4cy + c = 0

19. If the lines  are

concurrent, then a, b, c are in

A. A.P

B. G.P

2x − ay + 1 = 0, 3x − by + 1 = 0, 4x − cy + 1 = 0

https://dl.doubtnut.com/l/_23SVaL4I1Zup
https://dl.doubtnut.com/l/_Hu5YepfJrje7
https://dl.doubtnut.com/l/_STFMpj0rMNXQ


C. H.P

D. A.G.P

Answer: A

Watch Video Solution

20. If the lines  (a,b,c

being distinct and ) are concurrent, then the value of 

 is

A. -1

B. 0

C. 1

D. none

Answer: C

Watch Video Solution

x + ay = a = 0, bx + y + b = 0, cx + cy + 1 = 0

≠ 1

( + + )
a

a − 1
b

b − 1

c

c − 1

https://dl.doubtnut.com/l/_STFMpj0rMNXQ
https://dl.doubtnut.com/l/_sJQW9ayfewf0


21. The straight lines

 are concurrent if

the line  passes through the point

A. (a, b)

B. (b, a)

C. (-a, b)

D. (a, -b)

Answer: B

Watch Video Solution

x + 2y − 9 = 0, 3x + 5y − 5 = 0, ax + by + 1 = 0

22x − 35y + 1 = 0

22. The equation of the line passing through the point of intersection of

the lines  and the origin is

A. 

2x + 3y − 4 = 0, 3x − y + 5 = 0

2x + y = 0

https://dl.doubtnut.com/l/_sJQW9ayfewf0
https://dl.doubtnut.com/l/_jQW1hwSgPfd1
https://dl.doubtnut.com/l/_sVgo3CRTEp8R


B. 

C. 

D. 

Answer: A

Watch Video Solution

2x + 3y − 4 = 0

x + 2y + 1 = 0

2x + y − 12 = 0

23. The equation of the line passing through the point of intersection of

the lines  and the point (3, -2) is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x + y + 1 = 0, x − y − 7 = 0

3x + y = 0

3x + y − 5 = 0

5x + 2y = 0

3x − y − 11 = 0

https://dl.doubtnut.com/l/_sVgo3CRTEp8R
https://dl.doubtnut.com/l/_dG9mO0aS3IiV


24. The equation of the line passing through the point of intersection of

 and parallel to  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x + 3y = 1, 3x + 4y = 6 5x − 2y = 7

5x − 2y − 88 = 0

4x + 3y + 3 = 0

x − 2y = 0

2x + y − 5 = 0

25. The equation of the line passing through the point of intersection of

 and parallel to  is

A. 

B. 

5x − 2y = 12, 4x − 7y − 15 = 0 3x − 2y + 5 = 0

3x + 2y − 8 = 0

3x − 2y + 8 = 0

https://dl.doubtnut.com/l/_dG9mO0aS3IiV
https://dl.doubtnut.com/l/_Mlf7ctU8rXl3
https://dl.doubtnut.com/l/_4N5crDoDrfhY


C. 

D. 

Answer: C

Watch Video Solution

3x − 2y − 8 = 0

3x + 2y + 8 = 0

26. The equation of the line passing through the intersection of the lines,

 and  and perpendicular to the line 

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x − 2y + 5 = 0 3x + 2y + 7 = 0

x − y = 0

x + y = 0

x + y = 2

x + y + 2 = 0

x + y + 1 = 0

https://dl.doubtnut.com/l/_4N5crDoDrfhY
https://dl.doubtnut.com/l/_wCgFyWBQKIHX


27. The equation of the straight line perpendicular to  and

passing through the point of intersection of the lines

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

5x − 2y = 7

2x + 3y = 1 and 3x + 4y = 6

2x + 5y + 17 = 0

2x + 5y − 17 = 0

2x − 5y + 17 = 0

2x − 5y = 17

28. The equation of the line passing through the point of intersection of

the lines  and perpendicular to

the line  is

A. 

x − 3y + 2 = 0 and 2x + 5y − 7 = 0

3x + 2y + 5 = 0

2x − 3y + 1 = 0

https://dl.doubtnut.com/l/_wCgFyWBQKIHX
https://dl.doubtnut.com/l/_AmqJjiZtkHkS
https://dl.doubtnut.com/l/_UoGuLmuYyfdM


B. 

C. 

D. 

Answer: A

Watch Video Solution

6x − 9y + 11 = 0

2x − 3y − 5 = 0

3x + 2y + 1 = 0

29. The equation of the straight line perpendicular to the straight line

 and passing through the point of intersection of the lines 

 is

A. 

B. 

C. 

D. 

Answer: D

3x + 2y = 0

x + 3y − 1 = 0 and x − 2y + 4 = 0

2x − 3y + 1 = 0

2x − 3y + 3 = 0

2x − 3y + 5 = 0

2x − 3y + 7 = 0

https://dl.doubtnut.com/l/_UoGuLmuYyfdM
https://dl.doubtnut.com/l/_5MS5gTaFeBJv


Watch Video Solution

30. The equation of the line passing through the point of the intersection

of the lines  and having intercepts

numerically equal is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x + y − 5 = 0, 2x − y + 4 = 0

x + y − 5 = 0 or 3x − 3y + 13 = 0

x − y − 5 = 0 or 3x − 3y + 13 = 0

x + y − 5 = 0 or 3x + 3y + 13 = 0

x + y + 5 = 0 or 3x − 3y − 13 = 0

31. The equation of the straight line passing through the intersection of

 and at a distance of 5 unit from (-2, 4)

is

x + 2y − 19 = 0, x − 2y − 3 = 0

https://dl.doubtnut.com/l/_5MS5gTaFeBJv
https://dl.doubtnut.com/l/_GVyqMuXuEomL
https://dl.doubtnut.com/l/_TfUabq8rUJRl


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

5x − 12y − 7 = 0

5x + 12y + 103 = 0

5x − 12y + 7 = 0

12x − 5y + 7 = 0

32. The perpendicular distance of the straight line  from

the point of intersection of the lines 

is

A.  unit

B.  unit

C.  unit

D.  unit

7x + 24y = 15

3x + 2y + 4 = 0, 2x + 5y − 1 = 0

1/2

1/5

2/3

3/4

https://dl.doubtnut.com/l/_TfUabq8rUJRl
https://dl.doubtnut.com/l/_gqWrMmh5S0VV


Answer: B

Watch Video Solution

33. The vertical straight line passing through the point of intersection of

the straight lines  and at a distance of

2 units from the origin has the equation

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

x − 3y + 1 = 0, 2x + 5y − 9 = 0

x = 2

3x + 4y − 10 = 0

y = 1

https://dl.doubtnut.com/l/_gqWrMmh5S0VV
https://dl.doubtnut.com/l/_1e2qB26UWtqX


34. The locus of the point of intersection of the lines

, where  is a parameter

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x cosα + y sinα = a and x sinα − y cosα = b α

x2 − y2 = a2 + b2

x2 + y2 = a2 + b2

x2 + y2 = a2 − b2

x2 − y2 = a2 − b2

35. A variable line drawn throgh the point of intersection of the lines

 meets the coordinate axes in A and B. Then

the locus of midpoint of AB is

A. 

+ = 1, + = 1
x

a

y

b

x

b

y

a

2xy(a + b) = ab(x + y)

https://dl.doubtnut.com/l/_jAwlCqerBdlk
https://dl.doubtnut.com/l/_JHq8ZzVGGHPE


B. 

C. 

D. 

Answer: A

Watch Video Solution

xy(a + b) = ab(x + y)

2xy(a + b) = ab(x − y)

xy(a + b) = ab(x − y)

36. Let a and be nonzero reals such that . Then the equation of the

line passing through the origin and the point of intersection of

 is

A. 

B. 

C. 

D. 

Answer: C

a ≠ b

x/a + y/b = 1 and x/b + y/a = 1

ax + by = 0

bx + ay = 0

y − x = 0

x + y = 0

https://dl.doubtnut.com/l/_JHq8ZzVGGHPE
https://dl.doubtnut.com/l/_OgfndGfeHew6


Watch Video Solution

37. The equation to the line passing through the intersection of

 where  and (1, 2) is

A. x = 1

B. x = 2

C. y = 1

D. y = 2

Answer: A

Watch Video Solution

+ = 1, + = 1
x

b

y

b

x

b

y

a
ab = a + b

38. A straight line which makes equal intercepts on positive X and Y axes

and which is at a distance 1 unit from the origin intersects the striaght

line  at . Then y = 2x + 3X + √2 (x0, y0) 2x0 + y0 =

https://dl.doubtnut.com/l/_OgfndGfeHew6
https://dl.doubtnut.com/l/_FwiNUW9ERVUE
https://dl.doubtnut.com/l/_ipzctib7y8vV


A. 

B. 

C. 1

D. 0

Answer: B

Watch Video Solution

3 + √2

√2 − 1

39. The point of concurrence of the lines

 is

A. (1, 1)

B. (1, -1)

C. (3, 4)

D. (-2, 1)

Answer: C

(3k + 1)x − (2k + 3)y + (9 − k) = 0

https://dl.doubtnut.com/l/_ipzctib7y8vV
https://dl.doubtnut.com/l/_10qBjOEurvus


Watch Video Solution

40. The point of concurrence of the lines

 is

A. (-1, 2)

B. (2, -1)

C. (-2, 1)

D. (1, -2)

Answer: C

Watch Video Solution

(a + 2b)x + (a − b)y + (a + 5b) = 0

41. The point of concurrence of the lines

 is

A. 

(2a + 5b)x + (3a − 2b)y − 5a − 3b = 0

(1, 1)

https://dl.doubtnut.com/l/_10qBjOEurvus
https://dl.doubtnut.com/l/_HjutqxC1KfJt
https://dl.doubtnut.com/l/_l9lAe1xh6S0c


B. (1, -1)

C. (2, 2)

D. (-2, 2)

Answer: A

Watch Video Solution

42. If  is the parameter, then the family of lines 

 pass

through the fixed point

A. (0, 0)

B. (1, 1)

C. (0, 1)

D. (1, 0)

Answer: B

' θ'

(2 cos θ + 3 sin θ)x + (3 cos θ − 5 sin θ)y − (5 cos θ − 2 sin θ) = 0

https://dl.doubtnut.com/l/_l9lAe1xh6S0c
https://dl.doubtnut.com/l/_h6ha6W9FlL6V


Watch Video Solution

43. If a, b, c are in A.P, the lines  pass through the fixed

point

A. (1, 2)

B. (-1, 2)

C. (1, -2)

D. (-1, -2)

Answer: C

Watch Video Solution

ax + by + c = 0

44. If a, b, c are in A.P, then the lines 

A. pass through a fixed point

B. form an equilateral triangle

ax + by + c = 0

https://dl.doubtnut.com/l/_h6ha6W9FlL6V
https://dl.doubtnut.com/l/_pSvM2HyUpnlM
https://dl.doubtnut.com/l/_Kd15MWkYUVKW


C. form a rhombus

D. form a square

Answer: A

Watch Video Solution

45. If  then the lines  pass through the

fixed point

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3a + 2b + 4c = 0 ax + by + c = 0

(3/4, 1/2)

( − 3/4, 1/2)

(3/4, − 1/2)

( − 3/4, − 1/2)

https://dl.doubtnut.com/l/_Kd15MWkYUVKW
https://dl.doubtnut.com/l/_jZ8QD2bXAt5b
https://dl.doubtnut.com/l/_GgA8XQoUtIyN


46. If , then the set of lines 

pass through the fixed point

A. (1, 2), (-1, -2)

B. (2, 3), (-2, -3)

C. (2, -3), (-2, 3)

D. (1, -2), (-1, 2)

Answer: B

Watch Video Solution

4a2 + 9b2 − c2 + 12ab = 0 ax + by + c = 0

47. k is a nonzero constant. If  then the straight line 

 passes through the point

A. 

B. 

C. (1, 1)

k =
a + b

ab

+ = 1
x

a

y

b

(k, k)

(1/k, 1/k)

https://dl.doubtnut.com/l/_GgA8XQoUtIyN
https://dl.doubtnut.com/l/_CMNpcZDBCYqv


D. 

Answer: B

Watch Video Solution

(k, 1/k)

48. The equations of the sides  of a triangle ABC are 

 and 

 respectively. The equation of the line parallel

to  and passing through A is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

¯̄̄ ¯̄¯BC, ¯̄̄ ¯̄¯CA, ¯̄̄ ¯̄¯AB

u1 = a1x + b1y + c1 = 0, u2 = a2x + b2y + c2 = 0

u3 = a3x + b3y + c3 = 0

¯̄̄ ¯̄¯BC

(a3b + a1b3)u2 = (a2b1 − a1b2)u3

(a3b1 − a1b3)u2 = (a2b1 + a1b2)u3

(a3b1 + a1b3)u2 = (a2b1 + a1b2)u3

(a3b1 − a1b3)u2 = (a2b1 − a1b2)u3

https://dl.doubtnut.com/l/_CMNpcZDBCYqv
https://dl.doubtnut.com/l/_vQp0RmsRLu2F


49. The lines  cut the X-axis at A, B respectively.

A line  drawn through the point (2, 2) meets the X-axis at C in such a way

that abscissae of A, B and C are in arithmetic progression. Then the

equation of the line  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x + 3y = 6, 2x + 3y = 8

l

l

2x + 3y = 10

3x + 2y = 10

2x − 3y = 10

3x − 2y = 10

50. The number of lines that can be drawn through the point (-3, 4) at a

distance of 5 units from the point (2, -8) is

A. 0

https://dl.doubtnut.com/l/_Ce548YaF9gts
https://dl.doubtnut.com/l/_qCPBilV91Mpy


B. 1

C. 2

D. infinite

Answer: C

Watch Video Solution

51. The number of lines that can be drawn through the point (5,2) at a

distance of 5 units from the pont (2,-2) is

A. 0

B. 1

C. 2

D. infinite

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_qCPBilV91Mpy
https://dl.doubtnut.com/l/_3q7sKw35E5bK


52. The number of lines that can be drawn through the point  at

a distance of 3 units from the point (-2, 0) is

A. 0

B. 1

C. 2

D. infinite

Answer: C

Watch Video Solution

(4, √13)

53. The number of lines that can be drawn through the point (4, -5) at a

distance of 10 units from the point (1, 3) is

A. 0

B. 1

https://dl.doubtnut.com/l/_3q7sKw35E5bK
https://dl.doubtnut.com/l/_8OmDcFcy1JCw
https://dl.doubtnut.com/l/_WoRO1zeP7KiM


C. 2

D. infinite

Answer: A

Watch Video Solution

54. The centroid of the triangle formed by the lines

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x + y − 1 = 0, x − y − 1 = 0, x − 3y + 3 = 0

(4/3, 1)

( − 4/3, 1)

(8/3, 3)

( − 8/3, 3)

https://dl.doubtnut.com/l/_WoRO1zeP7KiM
https://dl.doubtnut.com/l/_PCaSd9sRckll
https://dl.doubtnut.com/l/_52SzaeZaa3EP


55. The point on the line  which is equidistant from (1, 2) and

(3, 4) is

A. (-2, 2)

B. (4, 1)

C. (1, -1)

D. (4, 6)

Answer: B

Watch Video Solution

2x − 3y = 5

56. The point on the line  which is equidistant from (1, 2) and

(3, 4) is :

A. (7, -4)

B. (15, -10)

C. 

3x + 4y = 5

(1/7, 8/7)

https://dl.doubtnut.com/l/_52SzaeZaa3EP
https://dl.doubtnut.com/l/_5T7ignhczgZ0


D. 

Answer: B

Watch Video Solution

(0, 5/4)

57. Let a, b, c and d be non-zero numbers. If the point of intersection of

the lines  and  lies in the fourth

quadrant and is equidistant from the two axes then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4ax + 2ay + c = 0 5bx + 2by + d = 0

3bc − 2ad = 0

3bc + 2ad = 0

2bc − 3ad = 0

2bc + 3ad = 0

https://dl.doubtnut.com/l/_5T7ignhczgZ0
https://dl.doubtnut.com/l/_13GrXwCsyExB
https://dl.doubtnut.com/l/_73YnAQzyYdwZ


58. The circumcentre of a triangle with vertices (-2, 3), (2, -1), (4, 0) is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( , )
3

2

5

2

( , − )
3

2

5

2

( − , )
3

2

5

2

( − , − )
3

2

5

2

59. The circumcentre of the triangle passing through

 is

A. (2, 0)

B. (1, 0)

C. 

D. (0, 2)

(1, √3), (1, − √3), (3, − √3)

(2, √3)

https://dl.doubtnut.com/l/_73YnAQzyYdwZ
https://dl.doubtnut.com/l/_Z89nwwX99MBh


Answer: A

Watch Video Solution

60. Find the circumcentre of the triangle whose sides are

 and .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3x − y − 5 = 0, x + 2y − 4 = 0 5x + 3y + 1 = 0

( , )
6

7

2

7

( , − )
6

7

2

7

( − , )
6

7

2

7

( − , − )
6

7

2

7

61. The circumcentre of the triangle formed by the lines

 is3x − y − 5 = 0, x + 3y − 5 = 0, x = y

https://dl.doubtnut.com/l/_Z89nwwX99MBh
https://dl.doubtnut.com/l/_ooO9n104E7yq
https://dl.doubtnut.com/l/_0r6MJeOP07lB


A. (2, 1)

B. 

C. 

D. 

Answer: D

View Text Solution

(5/2, 5/2)

(5/4, 5/4)

(15/8, 15/8)

62. The incentre and excentres of the triangle formed by the lines

 are

A. 

B. 

C. 

D. 

Answer: C

x = 0, y = 0, 3x + 4y = 2

(0, 2), ( − 2√3, 0), (0, 6), (2√3, 0)

(1, 8), (15, 120), (40, − 5), ( − 24, 3)

(1, 1), (3, − 3), (6, 6), ( − 2, 2)

( − 2, 2), (1, 8), (0, 6), (2√3, 0)

https://dl.doubtnut.com/l/_0r6MJeOP07lB
https://dl.doubtnut.com/l/_jKOXzzbJqAWq


View Text Solution

63. The incentre and excentres of the triangle formed by the lines

 are

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

3x + 4y = 0, 5x − 12y = 0, y = 15

(0, 2), ( − 2√3, 0), (0, 6), (2√3, 0)

(1, 8), (15, 120), (40, − 5), ( − 24, 3)

(1, 1), (3, − 3), (6, 6), ( − 2, 2)

( − 2, 2), (1, 8), (0, 6), (2√3, 0)

64. The incentre of the triangle formed by the lines

 is

A. 

x + y = 1, x = 1, y = 1

(1 − , 1 − )
1

√2

1

√2

https://dl.doubtnut.com/l/_jKOXzzbJqAWq
https://dl.doubtnut.com/l/_rIAcUFXYlLWZ
https://dl.doubtnut.com/l/_lorPOpSY6WO4


B. 

C. 

D. 

Answer: C

Watch Video Solution

(1 − , )
1

√2

1

√2

( , )
1

√2

1

√2

( , 1 − )
1

√2

1

√2

65. The point equidistant to the lines

 is

A. (1, -1)

B. (1, 1)

C. (0, 0)

D. (0, 1)

Answer: C

View Text Solution

4x + 3y + 10 = 0, 5x − 12y + 26 = 0, 7x + 24y − 50 = 10

https://dl.doubtnut.com/l/_lorPOpSY6WO4
https://dl.doubtnut.com/l/_BfTx2AfFn3FA


66. The orthocentre of the triangle formed by (1, 0), (2, -4), (-5, -2) is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( , )
11

13

7

13

( , − )
11

13

7

13

( − , )
11

13

7

13

( − , − )
11

13

7

13

67. The orthocentre of the triangle formed by (0, 0), (3, 1), (1, 3) is

A. 

B. 

C. 

(3/2, 3/2)

(2/5, 3/5)

(4, 8/3)

https://dl.doubtnut.com/l/_BfTx2AfFn3FA
https://dl.doubtnut.com/l/_fSGTuVkDk8Fi
https://dl.doubtnut.com/l/_GZUUoPeF2y47


D. 

Answer: A

View Text Solution

(24, − 26)

68. The orthocentre of the triangle formed by (1,-3),(6,1),(4,-1) is

A. 

B. (-3, 2)

C. 

D. (24, -26)

Answer: D

Watch Video Solution

(3/2, 3/2)

(4, 8/3)

https://dl.doubtnut.com/l/_GZUUoPeF2y47
https://dl.doubtnut.com/l/_jzjDnKaqYZ1B


69. The orthocentre of the triangle formed by 

and  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(2, − 1/2), (1/2, − 1/2)

(2, (√3 − 1)/2)

( , )
3

2

√3 − 3

6

(2, − )
1

2

( , )
5

4

√3 − 2

4

( , − )
1

2

1

2

70. The orthocentre of the triangle formed by the lines

 is

A. (5, 5)

B. (5, -5)

C. (-5, 5)

x − 2y + 9 = 0, x + y − 9 = 0, 2x − y − 9 = 0

https://dl.doubtnut.com/l/_soHMQGJvxUBs
https://dl.doubtnut.com/l/_8pKFcoCJe8KK


D. (-5, -5)

Answer: A

Watch Video Solution

71. The orthocentre of the triangle formed by the lines

 is

A. (11, 10)

B. (11, -10)

C. (-11, 10)

D. (-11, -10)

Answer: D

View Text Solution

x + y = 6, 2x + y = 4, x + 2y = 5

https://dl.doubtnut.com/l/_8pKFcoCJe8KK
https://dl.doubtnut.com/l/_Yjh6Hi8H2qIu


72. Find the orthocentre of the triangle whose sides are 

 and 

A. (1, 2)

B. (1, -2)

C. (-1, 2)

D. (-1, -2)

Answer: A

Watch Video Solution

4x − 7y + 10 = 0, x + y = 6 7x + 4y = 15

73. The coordinates of the orthocentre formed by the lines

 are

A. (-a, 0)

B. (0, -a)

C. 

y = mix + , i = 1, 2, 3
a

mi

( − a, a[ + + + ])
1

m1

1

m2

1

m3

1

m1m2m3

https://dl.doubtnut.com/l/_P4Zc5a0GjMKY
https://dl.doubtnut.com/l/_QyPMXn5NQctn


D. none

Answer: C

View Text Solution

74. The equations to the sides of a triangle are

. The line  passes

throuth

A. the incentre

B. the centroid

C. the circumcentre

D. the orthocentre of the triangle

Answer: D

Watch Video Solution

x − 3y = 0, 4x + 3y + 5, 3x + y = 0 3x − 4y = 0

https://dl.doubtnut.com/l/_QyPMXn5NQctn
https://dl.doubtnut.com/l/_o3G70KCO3jHR
https://dl.doubtnut.com/l/_jp5dj0sA6NoI


75. Two vertices of a triangle are (5, -1) and (-2, 3). If the centroid of the

triangle is the origin, then the third vertex is

Watch Video Solution

76. If P, Q, R lie on , then the orthocentre of  lies on

A. 

B. 

C. 

D. none

Answer: C

View Text Solution

xy = c2 ΔPQR

x + y = 0

2x + 3y = c

xy = c2

77. If the orthocentre of the triangle formed by the lines

 is at the origin,2x + 3y − 1 = 0, x + 2y − 1 = 0, ax + by − 1 = 0

https://dl.doubtnut.com/l/_jp5dj0sA6NoI
https://dl.doubtnut.com/l/_u16zMKwaGSCJ
https://dl.doubtnut.com/l/_UYKA6PdzBOdc


then (a, b) is given by

A. (6, 4)

B. (-3, 3)

C. (-8, 8)

D. (0, 7)

Answer: C

View Text Solution

78. Let  and  be three points. The equation

of the bisector of the angle PQR is

A. 

B. 

C. 

D. 

P ( − 1, 0), Q(0, 0) R(3, 3√3)

√3 + y = 0

x + y = 0
√3

2

x + y = 0
√3

2

x + √3y = 0

https://dl.doubtnut.com/l/_UYKA6PdzBOdc
https://dl.doubtnut.com/l/_zNmcxlt0Evne


Answer: A

Watch Video Solution

79. The base of an equilateral triangle x + y = 2 = 0 and opposite vertex is

(2 , - 1). Find the equations of the remaining sides .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y + 1 = (2 ± √3)(x + 2)

y − 1 = (2 ± √3)(x − 2)

y + 1 = (2 ± √3)(x − 2)

y + 1 = (√3 ± 1)(x − 2)

80. The ends of the base of an isoceles triangle are at (2a, 0) and (0, a).

The equation of one side is  . The equation of the other side isx = 2a

https://dl.doubtnut.com/l/_zNmcxlt0Evne
https://dl.doubtnut.com/l/_NE50CjhE4JXt
https://dl.doubtnut.com/l/_HxPWF9USu5x6


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + y = a

x + 2y = a

x + 2y = 2a

2x + y = 2a

81. The area of the triangle formed by the lines

 is

A. 2

B. 4

C. 6

D. 8

Answer: A

2x + y − 4 = 0, 3x + 2y − 5 = 0, x + y + 1 = 0

https://dl.doubtnut.com/l/_HxPWF9USu5x6
https://dl.doubtnut.com/l/_ouMj02xgWe9U


Watch Video Solution

82. The line 3x+2y=24 meets the y-axis at A and the x-axis at B. The

perpendicular bisector of AB meets the line through (0,-1) parallel to the

x-axis at C. If the area of triangle ABC is A, then the Value of  is

_________

A. 85

B. 87

C. 90

D. 91

Answer: D

Watch Video Solution

A/13

83. The line 3x+2y=24 meets the y-axis at A and the x-axis at B. The

perpendicular bisector of AB meets the line through (0,-1) parallel to the

https://dl.doubtnut.com/l/_ouMj02xgWe9U
https://dl.doubtnut.com/l/_pVMpAD9BWErl
https://dl.doubtnut.com/l/_swK4C7uw43yI


x-axis at C. If the area of triangle ABC is A, then the Value of  is

_________

A. 81

B. 91

C. 71

D. 61

Answer: B

Watch Video Solution

A/13

84. The are of the triangle formed by the y-axis, the line L passing through

the point (1, 1) and (2, 0) and the straight line perpendicular to the line L

and passing through  is

A. 

B. 

C. 

(1/2, 0)

25/19

25/16

23/16

https://dl.doubtnut.com/l/_swK4C7uw43yI
https://dl.doubtnut.com/l/_MiJsFw9ajRbE


D. 

Answer: B

View Text Solution

23/19

85. A line meets the coordinate axes at A and B such that the centroid of

 is (1, 2) . The equation of the line AB is

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

ΔOAB

x + y = 6

2x + y = 6

x + 2y = 6

https://dl.doubtnut.com/l/_MiJsFw9ajRbE
https://dl.doubtnut.com/l/_Rn7Broe0jFwl


86. Let  and  be three points. The equation

of the bisector of the angle PQR is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P ( − 1, 0), Q(0, 0) R(3, 3√3)

√3x + 2y = 0

x + √3y = 0

√3x + y = 0

2x + √3y = 0

87. In , if B = (1, 2), C = (5, 6) and the internal bisector of the angle

at A cuts BC at D(4, 5) then 

A. 

B. 

C. 

ΔABC

AB :AC =

2: 1

3: 1

1: 3

https://dl.doubtnut.com/l/_jGVmADcnMmeR
https://dl.doubtnut.com/l/_x34aedtxMuUP


D. 

Answer: B

View Text Solution

1: 2

88. In a triangle ABC, if A-=(1,2) and the internal angle bisectors through B

and C are y=x and y=-2x, then the inradius r of  is

A. (7, 2), (4, 2)

B. (7, -2), (4, 3)

C. (5, 2), (4, 3)

D. none

Answer: B

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_x34aedtxMuUP
https://dl.doubtnut.com/l/_xya04MJk9pa6


89. The base of a triangle lies along the line x=a and is of length a. The

area of the triangle is a^2. The locus of the third vertex is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x = 0

x = − a

x = a/2

x = a

90. A(1, 0), B(0, 1) are two points. If P(x, y) is a point such that  and 

 then

A. P lies either inside  or in third quadrant

B. P can not be inside 

C. P lies inside the 

xy > 0

x + y < 1

ΔOAB

ΔOAB

ΔOAB

https://dl.doubtnut.com/l/_GXYIvtkf2CWT
https://dl.doubtnut.com/l/_7MErXeKjUzRl


D. none

Answer: A

Watch Video Solution

91. The quadrilateral formed by the lines

is

A. parallelogram

B. rectangle

C. rhombus

D. square

Answer: A

View Text Solution

x + 8y + 37 = 0, 7x − 6y + 11 = 0, x + 8y − 87 = 0, 7x − 6y − 51 = 0

https://dl.doubtnut.com/l/_7MErXeKjUzRl
https://dl.doubtnut.com/l/_zEC2bkHjtAAY
https://dl.doubtnut.com/l/_f3jGY0THgu1N


92. The lines  form

A. parallelogram

B. rectangle

C. rhombus

D. square

Answer: C

View Text Solution

2x + y = 1, x + 2y = 1, 2x + y = 3, x + 2y = 3

93. The quadrilateral formed by the lines

 is

A. parallelogram

B. rectangle

C. rhombus

D. square

x − y + 2 = 0, x + y = 0, x − y − 4 = 0, x + y − 12 = 0

https://dl.doubtnut.com/l/_f3jGY0THgu1N
https://dl.doubtnut.com/l/_mbWdeplj8RPo


Answer: B

View Text Solution

94. The quadrilateral formed by the lines

 is

A. parallelogram

B. rectangle

C. rhombus

D. square

Answer: D

View Text Solution

x + y − 3 = 0, x − y + 3 = 0, x + y + 1 = 0, x − y − 1 = 0

95. The quadrilateral formed by the lines

 is√3x + y = 0, √3y + x = 0, √3x + y = 1, √3y + x = 1

https://dl.doubtnut.com/l/_mbWdeplj8RPo
https://dl.doubtnut.com/l/_idEEaepnnhto
https://dl.doubtnut.com/l/_45JlbdloZ8dn


A. rectangle

B. square

C. rhombus

D. none

Answer: C

Watch Video Solution

96. The are of the quadrilateral formed by the lines

 is

A. 36

B. 52

C. 8

D. 124

Answer: A

x − y + 2 = 0, x + y = 0, x − y − 4 = 0, x + y − 12 = 0

https://dl.doubtnut.com/l/_45JlbdloZ8dn
https://dl.doubtnut.com/l/_VrtwCZuuX8mb


View Text Solution

97. A : The area of the parallelogram formed by

is 52. 

R : The area of the parallelogram formed by

is 

A. 36

B. 52

C. 8

D. 124

Answer: B

Watch Video Solution

4x − 7y − 13 = 0, 8x − y − 39 = 0, 4x − 7y + 39 = 0, 8x − y + 13 = 0

a1x + b1y + c1 = 0, a1x + b1y + d1 = 0, a2x + b2y + c2 = 0, a2x + b2y +

∣
∣
∣

∣
∣
∣

(c1 − d1)(c2 − d2)

a1b2 − a2b1

https://dl.doubtnut.com/l/_VrtwCZuuX8mb
https://dl.doubtnut.com/l/_NHmG5B4eq3el


98. The area of the quadrilateral formed by the lines 

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a|x| + b|y| + c = 0

2c2

ab2

2c2

ab

2c

a2b

2c

ab2

99. Find the area enclosed with in the curve 

A. 2

B. 

C. 1

|x| + |y| = 1

1/2

https://dl.doubtnut.com/l/_iBn9FmEH8xKR
https://dl.doubtnut.com/l/_6fpc9fo6T3AK


D. 4

Answer: A

Watch Video Solution

100. The area of the parallelogram formed by the lines

is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4y − 3x − a = 0, 3y − 4x + a = 0, 4y − 3x − 3a = 0, 3y − 4x + 2a = 0

a2 /5

a2 /7

2a2 /7

2a2 /9

https://dl.doubtnut.com/l/_6fpc9fo6T3AK
https://dl.doubtnut.com/l/_bhNjLTrVhmiS
https://dl.doubtnut.com/l/_GRnYGtvHAa6A


101. P(2, 1), Q(4, -1), R(3, 2) are the vertices of a triangle and if through P

and R lines parallel to opposites sides are drawn to intersect in S, then

the area of PQRS is

A. 6

B. 4

C. 8

D. 12

Answer: B

View Text Solution

102. A point moves in the xy-plane such that the sum of its distances from

two mutually perpendicular lines is always equal to 5 units. The are (in

square units) enclosed by the locus of the point, is

A. 

B. 25

25/4

https://dl.doubtnut.com/l/_GRnYGtvHAa6A
https://dl.doubtnut.com/l/_QE533bSWoA2F


C. 50

D. 100

Answer: C

Watch Video Solution

103. The angle between the lines  is

A. 

B. 

C. 0

D. 

Answer: B

Watch Video Solution

4x − y + 9 = 0, 25x + 15y + 27 = 0

π/2

π/4

π/6

https://dl.doubtnut.com/l/_QE533bSWoA2F
https://dl.doubtnut.com/l/_31UmxcUTEkH9


104. The angle between the lines

 where  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x cosα + y sinα = p1 and x cos β + y sinβ = p2 α > β

α + β

α − β

αβ

2α − β

105. The angle between the lines formed by joining the points (2, -3), (-5, 1)

and (7, -1), (0, 3) is

A. 

B. 

C. 0

π/2

π/4

https://dl.doubtnut.com/l/_b9El306v4PsY
https://dl.doubtnut.com/l/_jtiQIaI90D78


D. 

Answer: C

Watch Video Solution

π/6

106. Find the angle between the lines

A. 

B. 

C. 1

D. 

Answer: B

Watch Video Solution

ax + by = a + b, a(x − y) + b(x + y) = 2b

π/2

π/4

π/6

https://dl.doubtnut.com/l/_jtiQIaI90D78
https://dl.doubtnut.com/l/_GdsreFchmIdh


107. If  is the angle between the lines ,

then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

θ x/a + y/b = 1, x/b + y/a = 1

cos θ =

2ab

a2 + b2

ab

a2 + b2

a2 + b2

2ab

a2 + b2

ab

108. If  is the angle between , the value of 

A. 

B. 

C. 

θ y = 2x + 3, y = x + 1

tan θ =

21/5

1/3

5/3

https://dl.doubtnut.com/l/_OtGSJPPQJoKr
https://dl.doubtnut.com/l/_6rOhXndETj1A


D. 

Answer: B

Watch Video Solution

−2

109. The angle between the line joining the points (1, -2), (3, 2) and the line

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + 2y − 7 = 0

π

π/2

π/3

π/6

https://dl.doubtnut.com/l/_6rOhXndETj1A
https://dl.doubtnut.com/l/_JkFH8FrbIIGG


110. If the acute angle between the lines

 is , then the value of k is

A. 

B. 

C. 2 or 

D. 5 or 

Answer: A

Watch Video Solution

4x − y + 7 = 0, kx + 5y − 9 = 0 45∘

−3, 25/3

1, − 4

−1/2

2/3

111. If the acute angle between the lines

 is , then k =

A. 1

B. 2

C. -1

2x + 3y − 5 = 0, 5x + ky − 6 = 0 π/4

https://dl.doubtnut.com/l/_OrTOYP0yeHwf
https://dl.doubtnut.com/l/_NmhBFLExgr4i


D. -2

Answer: A

Watch Video Solution

112. If  are parallel, then the value of

k =

A. 

B. 

C. 

D. 6

Answer: B

Watch Video Solution

2x + ky − 10 = 0, 5x + 2y − 7 = 0

4/3

4/5

5/3

https://dl.doubtnut.com/l/_NmhBFLExgr4i
https://dl.doubtnut.com/l/_EdLe2CKUtR5X


113. If  are perpendicular, then the

value of k =

A. 

B. 

C. 

D. 6

Answer: D

Watch Video Solution

3x − ky − 2 = 0, 2x + y + 2 = 0

4/3

4/5

5/3

114. A line passing through the points (a, 2a) and (-2, 3) is perpendicular

to the line , then the value of a is

A. 

B. 18

C. 5

4x + 3y + 5 = 0

18/5

https://dl.doubtnut.com/l/_pZ3jjSTGArG4
https://dl.doubtnut.com/l/_clnuMVzaealE


D. 1

Answer: A

Watch Video Solution

115. The value of k such that the straight line

 is parallel to x-axis is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(2x + 3y + 5) + k(x − 7y + 6) = 0

21/5

1/3

5/3

−2

https://dl.doubtnut.com/l/_clnuMVzaealE
https://dl.doubtnut.com/l/_LhgFpS1KmQLv


116. The value of k such that the line  is

parallel to y-axis is

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

3x + 4y + 5 − k(x + y + 3) = 0

117. The value of k such that the straight line

 is perpendicular to x-axis is

A. 

B. 

C. 

3x + 14y + 7 + k(5x + 7y + 6) = 0

21/5

1/3

5/3

https://dl.doubtnut.com/l/_P5khNzJ6bHbT
https://dl.doubtnut.com/l/_xKpWsKB1HZoc


D. 

Answer: D

Watch Video Solution

−2

118. The value of k such that the line 

is perpendicular to the line  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2x + 3y + 4 + k(6x − y + 12) = 0

7x + 5y = c

29/37

−29/37

−27/37

−28/37

https://dl.doubtnut.com/l/_xKpWsKB1HZoc
https://dl.doubtnut.com/l/_pYUicCeqfPs1


119. The lines

 are

perpendicular to a common line for

A. exactly one value of p

B. exactly two values of p

C. more than two values of p

D. no value of p

Answer: A

Watch Video Solution

p(p2 + 1)x − y + q = 0 and (p2 + 1)
2
x + (p2 + 1)y + 2q = 0

120. If the straight liine  for different

values of a and b are parallel to y-axis then the relationship between a &

b is

A. 

a(x + y − 1) + b(2x − 3y + 1) = 0

b = 3a

https://dl.doubtnut.com/l/_O34pPmTIXxVm
https://dl.doubtnut.com/l/_TU7SGP2zOrK9


B. 

C. 

D. 

Answer: B

Watch Video Solution

a = 3b

a + 3b = 0

b + 3a = 0

121. The diagonals of the parallelogrma formed by the lines

will be right angles if

A. 

B. 

C. 

D. none

Answer: D

a1x + b1y + c1 = 0, a1x + b1y + c1
1 = 0, a2x + b2y + c1 = 0, a2x + b2 + c1

1

=
a1

a2

b1

b2

=
a2

1

b2
1

a2
2

b2
2

a2
1 + b2

1 + b2
2

https://dl.doubtnut.com/l/_TU7SGP2zOrK9
https://dl.doubtnut.com/l/_6rkDUREx1eCA


Watch Video Solution

122. The diagonals of the parallelogram whose sides are

include an angle

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

lx + my + n = 0, lx + my + n1 = 0, mx + ly + n = 0, mx + ly = n1 = 0

π

3

π

2

tan− 1( )
l2 − m2

l2 + m2

tan− 1( )
2lm

l2 + m2

123. The angle between the diagonals of the parallelogram formed by the

lines  is+ = 1, + = 1, + = 2, + = 2
x

a

y

b

x

b

y

a

x

a

y

b

x

b

y

a

https://dl.doubtnut.com/l/_6rkDUREx1eCA
https://dl.doubtnut.com/l/_EiSNwejkCqq7
https://dl.doubtnut.com/l/_o4xnRfP2WiAF


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

π/6

π/4

π/3

π/2

124. The angles of the triangle formed by the lines

 is

A. 

B. 

C. 

D. 

Answer: B

5x + 3y − 15 = 0, x + y − 4 = 0, 2x + y − 6 = 0

cos − 1( ), cos − 1( ), π + cos − 1( )
4

√17

13

√170

3

√10

cos − 1( ), cos − 1( ), π − cos − 1( )
4

√17

13

√170

3

√10

cos − 1( ), , − cos − 1( )
2

√5

π

2

π

2

2

√5

cos − 1( ), , + cos − 1( )
2

√5

π

2

π

2

2

√5

https://dl.doubtnut.com/l/_o4xnRfP2WiAF
https://dl.doubtnut.com/l/_iSb1ztSK4meB


View Text Solution

125. The lines ,

and  form an isosceles triangles whose vertical angle is

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

(a + b)x + (a − b)y = 2ab, (a − b)x + (a + b)y = 2ab

x + y = 0

π/4

2 tan− 1(a/b)

2 tan− 1(2ab/(a2 − b2))

126. Show that the straight lines

 and 

 are concurrent.

(a − b)x + (b − c)y = c − a, (b − c)x + (c − a)y = a − b

(c − a)x + (a − b)y = b − c

https://dl.doubtnut.com/l/_iSb1ztSK4meB
https://dl.doubtnut.com/l/_UqzMR5FbmnTl
https://dl.doubtnut.com/l/_8oX9IoSJiP08


A. form an equilateral triangle

B. are concurrent

C. form an isosceles triangle

D. right angled triangle

Answer: B

Watch Video Solution

127. Show that the lines  and 

 form a right angled isosceles triangle.

A. form an equilateral triangle

B. are concurrent

C. form an isosceles triangle

D. form a right angled isosceles triangle

Answer: D

x − 7y − 22 = 0, 3x + 4y + 9 = 0

7x + y − 54 = 0

https://dl.doubtnut.com/l/_8oX9IoSJiP08
https://dl.doubtnut.com/l/_bEVijbW6AktH


Watch Video Solution

128. The lines 

A. form an equilateral triangle

B. are concurrent

C. form an isosceles triangle

D. form a right angled isosceles triangle

Answer: B

View Text Solution

2x − y − 1 = 0, 3x − y − 7 = 0, 3x − 2y + 4 = 0

129. The straight lines  are the

sides of [if the third line is not parallel any of these two lines]

A. an equilateral triangle

B. right angled triangle

2x + 3y = 5 and 6x − 4y + k = 0, k ∈ R

https://dl.doubtnut.com/l/_bEVijbW6AktH
https://dl.doubtnut.com/l/_hmWwo3hPWqpb
https://dl.doubtnut.com/l/_91jtW9VAfcdI


C. obtuse angled triangle

D. can not be the sides of a triangle

Answer: B

View Text Solution

130. The equation of the line passing through (1, 1) and makes an angle

 with the line  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

π/4 2x − y + 7 = 0

3x + y + 4 = 0

3x − y + 4 = 0

3x + y − 4 = 0

3x − y − 4 = 0

https://dl.doubtnut.com/l/_91jtW9VAfcdI
https://dl.doubtnut.com/l/_WL348hjkHbd4
https://dl.doubtnut.com/l/_4qevA42eHs0u


131. The equation of a straight line passing through the point (1, 2) and

inclined at  to the line  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

45∘ y = 2x + 1

5x + y = 7

3x + y = 5

x + y = 3

x − y + 1 = 0

132. The equations of the lines passing through (-10, 4) and making an

angle  with the line  are

A. 

B. 

C. 

tan− 1 2 2y = x − 10

3x + 4y + 14 = 0, x + 10 = 0

3x + 4y − 14 = 0, x + 10 = 0

3x − 4y + 14 = 0, x + 10 = 0

https://dl.doubtnut.com/l/_4qevA42eHs0u
https://dl.doubtnut.com/l/_1bJT00j1PSwT


D. 

Answer: A

Watch Video Solution

3x − 4y − 14 = 0, x + 10 = 0

133. The equation of the straight line through the origin, whose intercept

between the lines  is equal to 3 is

A. x =10

B. y = 0

C. x = 3

D. y = 3

Answer: B

View Text Solution

5x + 12y = 15 and 5x + 12y = 30

https://dl.doubtnut.com/l/_1bJT00j1PSwT
https://dl.doubtnut.com/l/_kmNQ47DEPfqa


134. The equation of a straight line passing through (1, 2) and having

intercept of length 3 between the straight lines

 is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

3x + 4y = 24 and 3x + 4y = 12

7x + 24y − 55 = 0

24x + 7y − 38 = 0

24x − 7y − 10 = 0

7x − 24y + 41 = 0

135. The equations of the lines passing through (4, 5) and making equal

angles with the lines  are

A. 

B. 

3x = 4y + 7, 5y = 12x + 6

y + 2 = 0, √3x − y = 2 + 3√3

3x + y − 4 = 0, x − 3y + 2 = 0

https://dl.doubtnut.com/l/_46tP8Jtm4HlN
https://dl.doubtnut.com/l/_4Ap5CdyGjW2O


C. 

D. none of these

Answer: C

Watch Video Solution

9x − 7y = 1, 7x + 9y = 73

136. ABCD is a parallelogram. Equations of  are 

 and the equation of the diagonal  is 

. Then the equation of  is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

 ←→
AB and

 ←→
AD

4x + 5y = 0, 7x + 2y = 0
 ←→
BD

11x + 7y = 9
 ←→
AC

x = y

x + y = 0

7x − 11y = 0

7x + 11y = 0

https://dl.doubtnut.com/l/_4Ap5CdyGjW2O
https://dl.doubtnut.com/l/_VLjSftnyydjn


137. The equation to the diagonal through the origin of the quadrilateral

formed by  is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

x = 0, y = 0, x + y = 1 and 6x + y = 3

x + 3y = 2

2x + 5y = 3

3x − 2y = 0

3x + 2y = 2

138. The points A(1,2),B(3,-4) are two vertices of the rectangle ABCD. The

point P(3,8) lies on the CD produced then C=

A. 

B. 

( , )
33

5
14
5

( − , )
33

5
14
5

https://dl.doubtnut.com/l/_VLjSftnyydjn
https://dl.doubtnut.com/l/_NfAfGfr8n2w6
https://dl.doubtnut.com/l/_HzaY4nIJwWeZ


C. 

D. 

Answer: C

Watch Video Solution

( , − )
33

5
14
5

( − , − )
33

5
14
5

139. The diagonal of a square is 8x- 15y =0 and one vertex of the square is

(1, 2). The equations to the sides of the square passing through this

vertex are

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

22x + 8y = 9, 22x − 8y = 52

23x + 7y = 9, 7x − 23y = 52

23x − 7y = 9, 7x + 23y = 53

https://dl.doubtnut.com/l/_HzaY4nIJwWeZ
https://dl.doubtnut.com/l/_s8YI6EVuPcPK


140. If the opposite vertices of a square are (-2, 3) and (8, 5), then the

equations of the sides of that square are

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

3x − 2y + 12 = 0, 3x + 2y − 14 = 0, 2x − 3y + 51 = 0, 2x + 3y − 31

3x − 2y + 12 = 0, 3x − 2y + 14 = 0, 2x + 3y − 51 = 0, 2x + 3y − 31

3x − 2y + 12 = 0, 3x + 2y + 14 = 0, 2x − 3y + 51 = 0, 2x + 3y − 31

3x − 2y + 12 = 0, 3x − 2y − 14 = 0, 2x + 3y − 5 = 0, 2x + 3y − 31

https://dl.doubtnut.com/l/_s8YI6EVuPcPK
https://dl.doubtnut.com/l/_AlxCoHEAt1mT


141. The ends of the base of an isoceles triangle are at (2a, 0) and (0, a).

The equation of one side is  . The equation of the other side is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x = 2a

x + 2y − a = 0

x + 2y = 2a

3x + 4y − 4a = 0

3x − 4y + 4a = 0

142. The foot of the perpendicular of the point (3, -5) in y-axis is

A. (2, 0)

B. (0, -5)

C. (7, -4)

D. (-2, -3)

https://dl.doubtnut.com/l/_QgCBkBl9lIpO
https://dl.doubtnut.com/l/_Jg3CasPwaZtq


Answer: B

Watch Video Solution

143. The foot of the perpendicular of the point (-2, 5) in  is

A. (2, 0)

B. (0, -5)

C. (7, -4)

D. (-2, -3)

Answer: D

Watch Video Solution

y + 3 = 0

144. If (2, -3) is the foot of the perpendicular from (-4, 5) on a line, then

the equation of the line is

https://dl.doubtnut.com/l/_Jg3CasPwaZtq
https://dl.doubtnut.com/l/_KlEpxwrZqR7r
https://dl.doubtnut.com/l/_9IFin7Av7Vpz


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

3x + 4y = 18

3x − 4y = 18

3x + 4y = 20

3x − 4y = 20

145. If PM is the perpendicular from  on to the lie  the

M=

A. (2, 1)

B. (-1, 4)

C. (1, 2)

D. (4, -1)

Answer: C

P (2, 3) x + y = 3

https://dl.doubtnut.com/l/_9IFin7Av7Vpz
https://dl.doubtnut.com/l/_kxOQcFXvMdwl


Watch Video Solution

146. The image of the line  in the y-axis is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x + y − 2 = 0

x − y + 2 = 0

y − x + 2 = 0

x + y + 2 = 0

x + y − 2 = 0

147. A : The foot of the perpendicular from (3, 4) on the line

 is  


R : If (h, k) is the foot of the perpendicular from  to the line 

 then 

3x − 4y + 5 = 0 (81/25, 92/25)

(x1, y1)

ax + by + c = 0 = =
h − x1

a

h − k1

b

−(ax1 + by1 + c)

a2 + b2

https://dl.doubtnut.com/l/_kxOQcFXvMdwl
https://dl.doubtnut.com/l/_b9b7drW4NBeC
https://dl.doubtnut.com/l/_ySnz7kuRqcGX


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( , )
81

25

92

25

( , )
92

25

81

25

( , )
46
25

54
25

( , )
−81

25

92

25

148. The foot of the perpendicular from (0, 0) to the line

 is

A. 

B. 

C. 

D. 

Answer: B

x cosα + y sinα = p

(cosα, sinα)

(p cosα, p sinα)

(p/cosα, p/sinα)

(p sinα, p cosα)

https://dl.doubtnut.com/l/_ySnz7kuRqcGX
https://dl.doubtnut.com/l/_NTgifOQoRolU


Watch Video Solution

149. Prove that the feet of the perpendicular from the origin on the lines

 are collinear.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x + y = 4, x + 5y = 26, 15x − 27y = 424

3x + y − 8 = 0

3x − 7 + 8 = 0

3x + y + 8 = 0

3x − y − 8 = 0

150. The image of the point (2, -1) w.r.t the point (1, -4) is

A. (1, 2)

B. (0, 5)

https://dl.doubtnut.com/l/_NTgifOQoRolU
https://dl.doubtnut.com/l/_XzQ5ptL9tSo2
https://dl.doubtnut.com/l/_L8BYxC5FncHH


C. (0, -7)

D. (4, -3)

Answer: C

View Text Solution

151. The image of the point (2, 1) w.r.t the line  is

A. (2, 5)

B. (0, 5)

C. (-4, 1)

D. (-2, -3)

Answer: C

Watch Video Solution

x + 1 = 0

https://dl.doubtnut.com/l/_L8BYxC5FncHH
https://dl.doubtnut.com/l/_rVJBTqvzLSd8


152. The image of the point (3, 4) w.r.t the line  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3x + 4y + 5 = 0

( , )
21

5

28

5

( , − )
21

5

28

5

( − , )
21

5

28

5

( − , − )
21

5

28

5

153. The image of the point (3, 8) in the line  is

A. (1, 4)

B. (4, 1)

C. (-1, -4)

D. (-4, -1)

x + 3y = 7

https://dl.doubtnut.com/l/_qxsWA7f3odk1
https://dl.doubtnut.com/l/_kFDlPbUVklnA


Answer: C

Watch Video Solution

154. The coordinate of the image of the orgin O with respect to the

straight line  are

A. 

B. (-2, -2)

C. (1, 1)

D. (-1, -1)

Answer: D

Watch Video Solution

x + y + 1 = 0

( − 1/2, − 1/2)

155. The reflection of the point (6, 8) in the line x = y is

https://dl.doubtnut.com/l/_kFDlPbUVklnA
https://dl.doubtnut.com/l/_xHjjuADbVQKw
https://dl.doubtnut.com/l/_PCXg5VIvPGYf


A. (4, 2)

B. (-6, -8)

C. (-8, -10)

D. (8, 6)

Answer: D

Watch Video Solution

156. The image of the point (4, -13) with respect to the line

 is :

A. (-1, -14)

B. (3, 4)

C. (1, 2)

D. (-4, 13)

Answer: A

5x + y + 6 = 0

https://dl.doubtnut.com/l/_PCXg5VIvPGYf
https://dl.doubtnut.com/l/_WMluA3yCP4Ik


Watch Video Solution

157. If (-2, 6) is the image of the point (4, 2) with respect to the line L = 0,

then L =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

6x − 4y − 7

2x + 3y − 5

3x − 2y + 5

3x − 2y + 10

158. If the image of  in a line is (1, 2), then the equation

of the line is

A. 

( − 7/5, − 6/5)

3x − y = 0

https://dl.doubtnut.com/l/_WMluA3yCP4Ik
https://dl.doubtnut.com/l/_YuHb6z3oqsUD
https://dl.doubtnut.com/l/_38L0tteSGHNt


B. 

C. 

D. 

Answer: C

Watch Video Solution

4x − y = 0

3x + 4y = 1

4x + 3y = 1

159. The image of the point (4, -13) with respect to the line

 is :

A. (57/13, -168/13)

B. (3, 4)

C. (1, 2)

D. (-4, 13)

Answer: A

Watch Video Solution

5x + y + 6 = 0

https://dl.doubtnut.com/l/_38L0tteSGHNt
https://dl.doubtnut.com/l/_xyS1NR2Dc30G


160. If the point (1, 2) is reflected through the origin and then through the

line , then the new coordinates of the point are

A. (1, 2)

B. (2, -1)

C. (2, 1)

D. (-2, 1)

Answer: C

Watch Video Solution

x = y

161. A ray of light along  gets reflected upon reaching x-

axis, the equation of the reflected ray is

A. 

B. 

x + √3y = √3

y = √3x − √3

√3y = x − 1

https://dl.doubtnut.com/l/_xyS1NR2Dc30G
https://dl.doubtnut.com/l/_rEXsl5OqHHKH
https://dl.doubtnut.com/l/_0dH3dv9iJfmR


C. 

D. 

Answer: D

Watch Video Solution

y = x + √3

√3y = x − √3

162. If  is the perpendicular bisector of the line segment

joining  and  then find .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x − 3y − 5 = 0

(3, − 4) (α, β) α + β

−81/13

−136/13

−135/13

−134/15

https://dl.doubtnut.com/l/_0dH3dv9iJfmR
https://dl.doubtnut.com/l/_DaoiwKEkMDGE
https://dl.doubtnut.com/l/_Q2QvCMru0De2


163. If  is the perpendicular bisector of  and A(5, 7), then

B is

A. (2, 1)

B. (3, 1)

C. (9, 1)

D. (-2, -3)

Answer: B

View Text Solution

x + 3y = 16 ¯̄̄ ¯̄¯AB

164. If  is the perpendicular bisector of the line segment

joining the points A  and B, then B is equal to

A. 

B. 

C. 

2x + 3y = 5

(1, )
1

3

( , )
21

13
49
39

( , )
17
13

31

39

( , )
7
13

49
39

https://dl.doubtnut.com/l/_Q2QvCMru0De2
https://dl.doubtnut.com/l/_LEPdd0lHoQgp


D. 

Answer: A

Watch Video Solution

( , )
21

13

31

39

165. Suppose A,B are two points on  and P(1,2) is such that

. Then the mid point of AB is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x − y + 3 = 0

PA = PB
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5

https://dl.doubtnut.com/l/_LEPdd0lHoQgp
https://dl.doubtnut.com/l/_FiXlTTRoVuzQ


166. The equation of perpendicular bisectors of AB and AC of a triangle

ABC are x-y-5=0 and x+2y=0 respectively. If A=(1,-2) then the equation of

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

¯̄̄ ¯̄¯BC

14x + 23y − 40 = 0

14x − 23y + 20 = 0

23x − 14y + 40 = 0

23x + 14y − 20 = 0

167. The image of  with respect to  is

A. 

B. 

C. 

3x − 4y + 11 = 0 2x − y − 1 = 0

3x + 4y − 5 = 0

4x + 3y − 5 = 0

x = 3

https://dl.doubtnut.com/l/_dTZZxNASID6G
https://dl.doubtnut.com/l/_4jUN97vnMIvg


Exercise 2 Special Type Questions Set 1

D. 

Answer: C

View Text Solution

5x + 12y − 2 = 0

168. The image line of  w.r.t.  is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

2x − y − 1 = 0 3x − 2y + 4 = 0

22x + 19y + 77 = 0

22x − 19y + 77 = 0

2x − y + 7 = 0

3x − 2y + 11 = 0

https://dl.doubtnut.com/l/_4jUN97vnMIvg
https://dl.doubtnut.com/l/_4cCA0jJEDD2t
https://dl.doubtnut.com/l/_10cIZ83ZlLLJ


1. The equation of the line perpendicular to the line  and

passing through (3, -4) is

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II are true

Answer: B

Watch Video Solution

2x + 3y − 5 = 0

2. If (-4,5) is one verted and  is one diagonal of a square,

then the equation of the second diagonal is

A. only I is true

B. only II is true

C. both I and II are true

7x − y + 8 = 0

https://dl.doubtnut.com/l/_10cIZ83ZlLLJ
https://dl.doubtnut.com/l/_gHSLbvfbQPDZ


D. neither I nor II are true

Answer: C

Watch Video Solution

3. The normal form of line  is

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II are true

Answer: B

Watch Video Solution

√3x = y + 4 = 0

https://dl.doubtnut.com/l/_gHSLbvfbQPDZ
https://dl.doubtnut.com/l/_OmoAqwi6lZuK


4. The slope of a straight line passing through A(-2, 3) is . The

points on the line that are 10 unit away from A are

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II are true

Answer: C

Watch Video Solution

−4/3

5. I : The point on the line  which is equidistant from (1, 2), (3,

4) is (4, 1). 

II : The point equidistant to the lines

 is (0, 0).

A. only I is true

2x + 3y = 5

4x + 3y + 10 = 0, 5x − 12y + 26 = 0, 7x + 24y − 50 = 0

https://dl.doubtnut.com/l/_s8ZnU64la4rE
https://dl.doubtnut.com/l/_TvAPYcKX7c41


B. only II is true

C. both I and II are true

D. neither I nor II are true

Answer: C

View Text Solution

6. The circumcentre of the triangle passing through

 is

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II are true

Answer: C

Watch Video Solution

(1, √3), (1, − √3), (3, − √3)

https://dl.doubtnut.com/l/_TvAPYcKX7c41
https://dl.doubtnut.com/l/_2D3X7BuaKWbc


7. The quadrilateral formed by the lines

 is

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II are true

Answer: B

Watch Video Solution

√3x + y = 0, √3y + x = 0, √3x + y = 1, √3y + x = 1

8. I : The  are parallel then k = 4. 


II : If  are perpendicular then k = 5.

A. only I is true

B. only II is true

2x + ky − 10 = 0, 5x + 2y − 7 = 0

2x + ky − 10 = 0, 5x + 2y − 7 = 0

https://dl.doubtnut.com/l/_2D3X7BuaKWbc
https://dl.doubtnut.com/l/_WdZIlm0o5A5e
https://dl.doubtnut.com/l/_jWoPOpTsMhq4


C. both I and II are true

D. neither I nor II are true

Answer: D

Watch Video Solution

9. I : The foot of the perpendicular of (3, -5) in y-axis is (-5, 3). 

II. If (2, -3) is the foot of the perpendicular from (-4, 5) on a line then the

equation of the line is .

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II are true

Answer: B

View Text Solution

3x − 4y = 18

https://dl.doubtnut.com/l/_jWoPOpTsMhq4
https://dl.doubtnut.com/l/_CvMerue2DYdP


Exercise 2 Special Type Questions Set 2

10. I : The image of the point (2, 1) with respect to the line  is

(-4, 1). 

II. If the point (1, 2) is reflected through origin and then through the line x

= y then the new coordinates of the point are (-2, -1).

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II are true

Answer: C

View Text Solution

x + 1 = 0

https://dl.doubtnut.com/l/_CvMerue2DYdP
https://dl.doubtnut.com/l/_YFLVoLNUEP2Q


1. The arrangement of the following straight lines in ascending order of

their slopes 

A. A,B, C, D

B. D, B, A, C

C. B, C, D, A

D. D, A, B, C

Answer: B

Watch Video Solution

(A)2y = √3x     (B)y = 2     (C)y = x     (D)y = − x

2. If A, B, C are the x intercepts of the lines

 then the ascending order

of A, B, C is

A. A,B, C

2x + 3y = 4, 3y − 5x + 7 = 0, x + y + 1 = 0

https://dl.doubtnut.com/l/_KiVNbYlTLT1z
https://dl.doubtnut.com/l/_Mrs4g5xBHRQ0


B. B, A, C

C. C, B, A

D. A, B, C

Answer: C

Watch Video Solution

3. The equation of the line passing through the point P(1, 2) such that P

bisects the part intercepted between the axes is

A. a, b, c

B. c, a, b

C. b, c, a

D. c, b, a

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Mrs4g5xBHRQ0
https://dl.doubtnut.com/l/_jYe11DDcED5E


4. Write the ascending order of areas of the triangles formed with

coordinate axes and the following lines 

A. A, B, C, D

B. B, A, D, C

C. C, A, B, D

D. D, C, A, B

Answer: B

Watch Video Solution

(A)x + y + 3 = 0   (B)x + y + 1 = 0   (C)2x + y − 6 = 0   (D)4x +

5. Write the ascending order of the distance between the parallel lines 

(A)  

(B)  


2x + 3y + 1 = 0, 2x + 3y + 14 = 0

3x + 4y + 10 = 0, 3x + 4y + 5 = 0

https://dl.doubtnut.com/l/_jYe11DDcED5E
https://dl.doubtnut.com/l/_bLRjCxxXzzH6
https://dl.doubtnut.com/l/_Tf8KxH45nBHF


(C)  

(D) 

A. B, C, D, A

B. A, B, C, D

C. B, D, C, A

D. B, C, A, D

Answer: A

Watch Video Solution

x + y + 1 = 0, x + y + 3 = 0

2x + y + 1 = 0, 2x + y + 6 = 0

6. Write the descending order of the perpendicular distance of the line

 from

A. A, B, C ,D

B. B, A, D, C

C. B, D, C, A

2x − y + 5 = 0

(A)(2, 1)    (B)(2, − 1)    (C)( − 2, 1)    (D)( − 2, − 1)

https://dl.doubtnut.com/l/_Tf8KxH45nBHF
https://dl.doubtnut.com/l/_KnXCixDWSYzH


Exercise 2 Special Type Questions Set 3

D. B, C, D, A

Answer: B

Watch Video Solution

7. The equation of the line passing through the point of intersection of

the lines  and the point (3, -2) is

A. a, b, c

B. c, a, b

C. b, c, a

D. c, b, a

Answer: D

Watch Video Solution

2x + y + 1 = 0, x − y − 7 = 0

https://dl.doubtnut.com/l/_KnXCixDWSYzH
https://dl.doubtnut.com/l/_ROUNiGI4qHtA


1. Match the following 

A. a, b, c, d

B. d, b, a, e

C. b, d, e, c

D. b, d, c, a

Answer: B

Watch Video Solution

Line Slope

I. 33x − 3y − 38 = 0 (a) − 2/3

II. 4x − y − 2 = 0 (b)4

III. 2x + 3y − 6 = 0 (c) − 2/13

IV . 2x + 25y = 1 (d)11

(e) − 2/25

https://dl.doubtnut.com/l/_ioWtWtJzNScj


2. Match the following 

A. d, b, a, e

B. d, c, b, e

C. d, e, b, c

D. c, b, a, d

Answer: D

View Text Solution

I. The line passing through (5, 4) with slope −7/2is (a)2x − y

II. The altitude through A of triangle ABC where (b)5x − 9y

   A(1, 1), B(-3, 4), C(2, -5) is

III. The perpendicular bisector of the line segment joining (c)7x + 2y

    (1,2), (-3, 4) is

IV. The line perpendicular to 2x + 3y − 4 = 0  and passing (d)3x − 2y

through origin is

https://dl.doubtnut.com/l/_sp1S2N63b9tu


3. Match the following 

A. d, b, a, e

B. d, c, b, e

C. d, e, b, c

D. a, b, c, d

Answer: C

Watch Video Solution

Line Area of the triangle formed with axes

I. x + y = 10√2 (a)√3/2

II. 2x − 3y − 6 = 0 (b)72/√3

III. √3x + y − 12 = 0 (c)6

IV . 3x − 4y − 12 = 0 (d)100

(e)3

https://dl.doubtnut.com/l/_y7xJucJk3KUt


4. Match the following 

A. c, d, a, b

B. a, b, c, d

C. b, a, c, d

D. e, c, d, a

Answer: A

View Text Solution

Line Distance from origin

I. x − 2y + 1 = 0 (a)7/√10

II. x + √3y + 2 = 0 (b)4/√5

III. 3x − y + 7 = 0 (c)1/√5

IV . 2x − y − 4 = 0 (d)1

(e)7/10

https://dl.doubtnut.com/l/_Tpdot1tCpV3A


5. Match the following 

A. c, d, a, b

B. c, b, a, d

C. d, c, b, a

D. a, b, c, d

Answer: C

View Text Solution

Line Intercepts

I. 3x + 4y = 6 (a) − 13/2, − 13/3

II. 5x − 2y + 10 = 0 (b)5,5/3

III. joining the points (2, -1), (-1, 2) (c) − 2,5

IV . Joining the points (4, -7), (1, -5) (d)2,3/2

https://dl.doubtnut.com/l/_B3NwCP0z5TEj


6. Match the following 

A. b,c, d, a

B. c, b, d, a

C. d, c, b, a

D. a, b, c, d

Answer: B

View Text Solution

I. Line passing through (-4, 3) and having intercepts in the (a)2

  ratio5: 3

II. Line passing through P(2, -5) such that P bisects the part (b)5x

  intercepted between the axes

III. Line parallel to 2x − 3y + 5 = 0  with x-intercept 2/5 is (c)3x

IV. Line perpendicular  to 5x + 2y + 7 = 0  with x-intercept 4/5 is (d)1

https://dl.doubtnut.com/l/_mvgRVPMv3kM7


7. Match the following 

A. b, c, d , a

B. b, a, d, c

C. d, c, b, a

D. a, b, c, d

Answer: B

View Text Solution

System of lines Point of concurrence

I. (3k − 1)x − (2k + 3)y + (9 − k) = 0 (a)(-2, 1)

II. (a + 2b)x + (a − b)y + (a + 5b) = 0 (b)(3, 4)

III. (2x + 3y + 1) + k(3x − 2y − 5) = 0 (c)(2, 2)

IV . a(x + y − 4) + b(2x − y − 2) = 0 (d)(1, -1)

8. Match the following 

I. Foot of the perpendicular from (3, 4) to the line 3x − 4y = 18 (a)(-7/5

II. Image of (-3, 4) with respect  to the origin (b)(-1, -

III. Image of (1, 2) with respect to 3x + 4y − 1 = 0 (c)(6,0)

IV. The reflection of (4, -13) in the line 5x + y + 6 = 0 (d)(3, -4

https://dl.doubtnut.com/l/_eFCxUrp51CRn
https://dl.doubtnut.com/l/_lAmFgzu3iYwh


Exercise 2 Special Type Questions Set 4

A. c, d, a, b

B. c, b, d, a

C. d, c, b, a

D. a, b, c, d

Answer: A

View Text Solution

1. A : The equation of the line passing through (1, 2) with slope  is 




R : The equation of the line passing through  with slope m is 

A. A, R are correct, R is correct explaination of A

B. A, R are correct, R is not correct explanation of A

2/5

2x − 5y + 8 = 0

(x1, y1)

y − y1 = m(x − x1)

https://dl.doubtnut.com/l/_lAmFgzu3iYwh
https://dl.doubtnut.com/l/_37hmPC1LxP6n


C. A is true, R is false

D. A is false, R is true

Answer: A

Watch Video Solution

2. A : Equation of the line passing through (-2, 3) and parallel to

 is . 


R : Equation of the line passing through  and parallel to 

 is 

A. A, R are correct, R is correct explaination of A

B. A, R are correct, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: A

W t h Vid S l ti

3x − 4y + 7 = 0 3x − 4y + 18 = 0

(x1, y1)

ax + by + c = 0 a(x − x1) + b(y − y1) = 0

https://dl.doubtnut.com/l/_37hmPC1LxP6n
https://dl.doubtnut.com/l/_moD9s7eOEeSJ


Watch Video Solution

3. A : Equation of the line passing through (3, -4) and perpendicular to

 is . 


R : Equation of the line passing through  and perpendicular to 

 is 

A. A, R are correct, R is correct explaination of A

B. A, R are correct, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: A

Watch Video Solution

2x + 3y + 7 = 0 3x − 2y − 17 = 0

(x1, y1)

ax + by + c = 0 b(x − x1) − a(y − y1) = 0

4. A : The distance between the straight lines

 is . 
2x − y + 3 = 0, y = 2x + 4 1/√5

https://dl.doubtnut.com/l/_moD9s7eOEeSJ
https://dl.doubtnut.com/l/_LgaFpGyOrDII
https://dl.doubtnut.com/l/_WPSlF6jZOtFA


R : Distance between parallel lines 

is .

A. A, R are correct, R is correct explaination of A

B. A, R are correct, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: A

Watch Video Solution

ax + by + c1 = 0, ax + by + c2 = 0

|c1 − c2|

√a2 + b2

5. A : If the angle between the lines  is 

 one value of k is 4 


R : If  is angle between the lines with slopes  then 

.

A. A, R are correct, R is correct explaination of A

B. A, R are correct, R is not correct explanation of A

kx − y + 6 = 0, 3x + 5y + 7 = 0

π/4

θ m1, m2

tan θ =
|m1 − m2|

|1 + m1m2|

https://dl.doubtnut.com/l/_WPSlF6jZOtFA
https://dl.doubtnut.com/l/_SUUtqpLw4jJT


C. A is true, R is false

D. A is false, R is true

Answer: D

Watch Video Solution

6. A : The number of lines that can be drawn through the point (4, -5) at a

distance of 10 units from the point (1, 3) is zero 

R : Required distance is greater than the distance between points or

distance 10 units from (1, 3) through (4, -5) is not possible

A. A, R are correct, R is correct explaination of A

B. A, R are correct, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: A

W t h Vid S l ti

https://dl.doubtnut.com/l/_SUUtqpLw4jJT
https://dl.doubtnut.com/l/_jr6owYDUxLJq


Watch Video Solution

7. A : The ratio in which the perpendicular through (4, 1) divides the line

joining (2, -1), (6, 5) is . 


R : The ratio in which the line  divides the line segment

joining  is .

A. A, R are correct, R is correct explaination of A

B. A, R are correct, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: A

Watch Video Solution

5: 8

ax + by + c = 0

(x1, y1), (x2, y2) (ax1 + by1 + c) : − (ax2 + by2 + c)

8. A : The area of the rhombus formed by  is 2 


R : The area of the rhombus formed by  is 

|x| + |y| = 1

ax ± by ± c 2c2 /|ab|

https://dl.doubtnut.com/l/_jr6owYDUxLJq
https://dl.doubtnut.com/l/_HCEuAlmlgxEZ
https://dl.doubtnut.com/l/_DZk9NsW2wb2D


A. A, R are correct, R is correct explaination of A

B. A, R are correct, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: A

Watch Video Solution

9. A : The area of the parallelogram formed by

is 52. 

R : The area of the parallelogram formed by

is 

A. A, R are correct, R is correct explaination of A

B. A, R are correct, R is not correct explanation of A

4x − 7y − 13 = 0, 8x − y − 39 = 0, 4x − 7y + 39 = 0, 8x − y + 13 = 0

a1x + b1y + c1 = 0, a1x + b1y + d1 = 0, a2x + b2y + c2 = 0, a2x + b2y +

∣
∣
∣

∣
∣
∣

(c1 − d1)(c2 − d2)

a1b2 − a2b1

https://dl.doubtnut.com/l/_DZk9NsW2wb2D
https://dl.doubtnut.com/l/_oBuB0HytFx93


C. A is true, R is false

D. A is false, R is true

Answer: A

Watch Video Solution

10. A : The foot of the perpendicular from (3, 4) on the line

 is  


R : If (h, k) is the foot of the perpendicular from  to the line 

 then 

A. A, R are correct, R is correct explaination of A

B. A, R are correct, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: A

h id l i

3x − 4y + 5 = 0 (81/25, 92/25)

(x1, y1)

ax + by + c = 0 = =
h − x1

a

h − k1

b

−(ax1 + by1 + c)

a2 + b2

https://dl.doubtnut.com/l/_oBuB0HytFx93
https://dl.doubtnut.com/l/_5x5YGA3MOmmV


Watch Video Solution

11. A : The reflection of (6, 8) in the line  is (8, 6) 

R : The reflection of  in the line  is 

A. A, R are correct, R is correct explaination of A

B. A, R are correct, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: A

Watch Video Solution

x = y

(x1, y1) x = y (y1, x1)

12. A : The image of the origin with respect to the line  is

(-1, -1) 

R : If (h, k) is the image of  with respect to the line 

 then 

x + y + 1 = 0

(x1, y1)

ax + by + c = 0 = =
h − x1

a

h − k1

b

−2(ax1 + by1 + c)

a2 + b2

https://dl.doubtnut.com/l/_5x5YGA3MOmmV
https://dl.doubtnut.com/l/_nCBBHwq2Si6B
https://dl.doubtnut.com/l/_8dmC7BcyxxL9


A. A, R are correct, R is correct explaination of A

B. A, R are correct, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_8dmC7BcyxxL9

